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1. Assertion [A] : Quality of FYM is linked to the kind of feed given
to cattle. 

TØÖ [A] :    £søn G¸ÂÀ \zxUPÎß AÍÄ PõÀ|øhPÐUS 
öPõkUP¨£k®  wÁnzøu ö£õ¸zux.  

Reason [R] :  Concentrated feeds like oil cakes, wheat brown are
rich in N, P, K, Mg and S. 

Põμn® [R] :  ö\ÔÄªUP wÁn[PÍõQ¯ ¦snõUS ©ØÖ® ÷Põxø©

uÂmiÀ AvP AÍÄ N, P, K, Mg ©ØÖ® S EÒÍx. 

(A) [A] is correct and [R] is wrong 

 TØÖ [A] \› ©ØÖ® Põμn® [R] uÁÖ 

(B) [A] is wrong and [R] is correct 

 TØÖ [A] uÁÖ ©ØÖ® Põμn® [R] \› 

(C) [A] is well explained by [R]  

 TØÖ, [A] Põμnzxhß [R] ÂÍUP¨£mkÒÍx  

(D) [A] and [R] are wrong 

 TØÖ [A]  ©ØÖ® Põμn® [R] uÁÖ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

2. Manures which is well decomposed has a C : N ratio of __________. 
|ßS ]øu¢u ©US EμzvÀ Põº£ß ø|mμáß (P›© ©ØÖ® uøÇa\zx) 
RÌPsh G¢u ÂQuzvÀ EÒÍx. 

(A) 4 : 1 (B) 20 : 1 

(C) 50 : 1 (D) 100 : 1 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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3. The loss of nutrient value of FYM is approximately __________%,
when exposed to adverse condition during storage. 
£søn G¸øÁ A\õuõμn©õÚ `Ì{ø»°À ÷\ªUS® ÷£õx HØ£k® 
\zvß CÇ¨¦ ÷uõμõ¯©õP ––––––––––% 

(A) 20 (B) 30 

(C) 40 (D) 50 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

4. To compost one ton of coir pith how much urea is required? 
J¸ hß öußøÚ |õº PÈøÁ ©US Eμ©õUP ÷uøÁ¨£k® ³›¯õ AÍÄ 
¯õx? 

(A) 2 kg (B) 3 kg 

 2 Q÷»õ  3 Q÷»õ 

(C) 4 kg (D) 5 kg 
 4 Q÷»õ  5 Q÷»õ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

5. What is the minimum number of field counts to be taken in an area
of 10 ha of seed farm? 
10 öíU÷hº Âøu¨ £søn°À ÷©ØöPõÒÍ ÷Ási¯ SøÓ¢u£m\ Á¯À 
PnURkPÒ GzuøÚ? 

(A) 7 (B) 8 

(C) 9 (D) 10 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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6. The period of Medium Term Storage of seed is 
©zv¯ Põ» Âøu ÷\ª¨¦ Gß£x 

(A) 0.5 – 1 year  (B) 1 – 1½ years 

 0.5 – 1 Á¸h®  1 – 1½ Á¸h® 

(C) 1½ – 6 years  (D) 6 – 10 years 
 1½– 6 Á¸h®  6 – 10 Á¸h® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

7. The recommended planting ratio for single cross Maize hybrid seed
production is __________. 
©UPõa ÷\õÍzvÀ JØøÓU P»¨¦ Ã›¯ Jmk Âøu EØ£zvUS 
£›¢xøμUP¨£k® |hÄ ÂQu® 

(A) 4 : 2 (B) 5 : 2 

(C) 6 : 2 (D) 8 : 2 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

8. The first Bt. Cotton variety released by public sector 
ö£õxz xøÓ¯õÀ öÁÎ°h¨£mh •uÀ ¤.i. £¸zv ÁøP Gx? 

(A) Bikaneri Nerma (B) Abhadhita 

 ø£UPõÚ› ö|º©õ  A¨Põzvhõ 

(C) Sujatha (D) Cocanada 1 
 _áõzuõ  ÷PõPÚõhõ 1 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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9. Slow freezing results in __________ size of Ice Crystals. 
ö©xÁõP EøÓ²® •øÓ°À –––––––––– AÍÄ £Û £iP[PÒ E¸ÁõS®. 

(A) small (B) medium 

 ]Ô¯  |kzuμ 

(C) large (D) no ice crystal formation 
 ö£›¯  £Û £iP[PÒ E¸ÁõPõx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

10. One among the following represents the cut-out analysis of canned 
food 
¤ßÁ¸ÁÚÁØÔÀ JßÖ, öPõÒP»ßPÎÀ AøhUP¨£mh Põ´PÔPøÍ, 
vÓ¢x £S¨£õ´Âß ÷£õx AÍÂh ÷Ásk®. 

(A) Soft swell (B) Hard swell 

 ö©ßø©¯õÚ ÃUP®  Pkø©¯õÚ ÃUP® 

(C) Buckling (D) Drained-Weight 
 ö|ÎuÀ  ÁiPmi¯ Gøh 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

11. __________ is a result of fermentation of fresh fruits and vegetables.
£Ç[PÒ ©ØÖ® Põ´PÔPøÍ ö|õvzu¼ß ÂøÍÁõP Qøh¨£x. 

(A) Pickle (B) Squash 

 FÖPõ´  ìSÁõè 

(C) Jam (D) Jelly 
 áõ®  öáÀ¼ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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12. The following one is not a most edible mushroom 
RÌPsh PõÍõß ÁøPPÎÀ Gx AvPÍÂÀ EnÄUS £¯ß£kzu¨£hõux?

(A) Oyster mushroom (B) Milky mushroom 

 ]¨¤ PõÍõß  £õÀ PõÍõß 

(C) Lentinula mushroom (D) Pholiota mushroom 
 ö»ßiS»õ PõÍõß  ÷£õ¼÷¯õmhõ PõÍõß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

13. Chemical substance added to maintain pH of the Sorghum grain
medium 
÷\õÍ Âzx FhPzvß Põμ Aª»z ußø©ø¯ {º©õoUP £¯ß£kzu£k® 
ö£õ¸Ò 

(A) 3CaCO  (or) 4CaSO  (B) 3CaCO  (or) ( )2OHCa  

 3CaCO  (or) 4CaSO   3CaCO  (or) ( )2OHCa  

(C) 4CuSO  (or) 3CuCO  (D) 3CaCO  alone 

 4CuSO  (or) 3CuCO   3CaCO  ©mk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

14. A mushroom that produces Chlamydospores 
RÌPshÁØÔÀ EÓUP {ø» §\na ]uÀPøÍ E¸ÁõUS® J¸ PõÍõß 

(A) Button Mushroom (B) Milky Mushroom 

 ö©õmkU PõÍõß  £õÀ PõÍõß 

(C) Paddy Straw Mushroom (D) Oyster Mushroom 
 øÁU÷PõÀ PõÍõß  ]¨¤U PõÍõß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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15. Nilamanga is a type of 
{»©õ[Põ Gß£x J¸ ÁøP 

(A) Fruit (B) Biocide 

 £Ç®  E°ºUöPõÀ¼ 

(C) Mushroom (D) Herb 
 PõÍõß  ‰¼øP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

16. For mass multiplication of Azolla the following materials are 
required 
A÷\õ»õøÁ ö£¸©ÍÂÀ ö£¸USÁuØS (A) EØ£zv ö\´ÁuØS ¤ßÁ¸® 
ö£õ¸ÒPÒ ÷uøÁ  

(i) Urea 
 ³›¯õ 

(ii) Superphosphate 
 `¨£º£õì÷£m 

(iii) Furadan granules 
 ¤²μhõß 

(iv) Potash 
 ö£õmhõè 

(A) (i) and (ii) (B) (i) and (iii) 

 (i) ©ØÖ® (ii)  (i) ©ØÖ® (iii) 

(C) (ii) and (iii) (D) (ii) and (iv) 
 (ii) ©ØÖ® (iii)  (ii) ©ØÖ® (iv) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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17. The size of the rhizobium carrier should pass through __________
micron IS sieve. 
øμ÷\õ¤¯® H¢v GßÓ ø©Uμõß AÍÂ»õÚ \À»øh ÁÈ¯õP ö\À» 
÷Ásk® 

(A) 100 – 150 (B) 150 – 200 

(C) 200 – 250 (D) 250 – 300 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

18. Phosphate solubilizing bacteria are 
©oa\zøu PøμUS® £õUj›¯õ ¯õx? 

(i) Pseudomonas 
 _÷hõ÷©õÚõì 

(ii) Bacillus 
 ÷£]À»ì 

(iii) Trichoderma 
 møμ÷Põöhº©õ 

(iv) Fusarium 
 ¤²÷éõ›¯® 

(A) (i) and (ii) are correct (B) (i) and (iii) are correct 

 (i) ©ØÖ® (ii) \›  (i) ©ØÖ® (iii) \›  

(C) (ii) and (iii) are correct (D) (ii) and (iv) are correct 
 (ii) ©ØÖ® (iii) \›  (ii) ©ØÖ® (iv) \› 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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19. Biocontrol agents registered for use in the country under the 
insecticide act, 1968 as on 31.12.18 
C¢v¯õÂÀ §a]UöPõÀ¼ \mh® 1968 ß £i 31.12.2018 Áøμ 
£¯ß£õmiØS £vÄ ö\´¯¨£mh E°›¯À •øÓU Pmk£õmk PõμoPÒ 

(A) 4 (B) 8 

(C) 12 (D) 16 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

20. Which of the following is not used as carrier material for the
biocontrol formulations? 
¤ßÁ¸ÁÚÁØÖÒ Gx E°›¯À •øÓ Pmk¨£õk E¸ÁõUPzvÀ H¢v 
ö£õ¸ÍõP £¯ß£kzu£kÁvÀø»? 

(A) Talc (B) Lime 

 hõÀU  _snõ®¦ 

(C) Peat (D) Lignite 
 ¦ÀP›  {»UP› 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

21. Virus free plants are produced by 
øÁμì AØÓ uõÁμ[PÒ EØ£zv ö\´¯ £¯ß£k® •øÓ 

(A) Meristem culture (B) Protoplast culture 

 BUSzv_ ÁÍº¨¦  ¦÷μõm÷hõ¤Íõìm ÁÍº¨¦ 

(C) Hydroponics (D) Embryo culture 
 }›¯À ÁÍº¨¦  P¸ ÁÍº¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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22. Streptomycin sulphate is used for the control of __________. 
ö\¨i÷μõø©]ß \À÷£m G¢u ÁøP¯õÚ ÷|õø¯ Pmk¨£kzxÁuØS 
£¯ß£kzu¨£kQÓx? 

(A) Bacteria (B) Insects 

 £õUj›¯õ  §a]PÒ 

(C) Fungi (D) Nematode 
 §g\õn®  ¡Ø¦Ê 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

23. Green ear symptom is noticed in which of the following crops? 
RÌUPõq® £°ºPÎÀ GÁØÔÀ £_[Pvº AÔSÔPÒ Põn¨£k®? 

(A) Paddy (B) Cumbu 

 ö|À  P®¦ 

(C) Sorghum (D) Maize 
 ÷\õÍ®  ©UPõa÷\õÍ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

24. A systemic fungicide banned for use in agriculture by the Govt. of
India 
C¢v¯ Aμ\õÀ £°º ÷|õ´ £õxPõ¨¤ØS £¯ß£kzu uøhö\´¯¨£mh J¸ 
Fk¸Â¨£õ²® §gø\ öPõÀ¼ 

(A) Binapacryl (B) Benomyl 

 ø£Úõ£õU›À  ö£÷ÚõªÀ 

(C) Betertanol (D) Bavistin 
 ø£mhº ÷hÚõÀ  £õÂìiß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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25. Disease confined to a particular part of the plant 
uõÁμ[PÎß J¸ £Sv GÀø»USm£mh ÷|õ´ 

(A) Systemic disease (B) Latent disease 

 EÒÏmk ÷|õ´  EÒÐøÓ ÷uõØÖ ÷|õ´ 

(C) Localized disease (D) Sporodic disease 
 EøÓÂh ÷|õ´  ]uÓ»õÚ ÷|õ´ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

26. Root Knot symptoms in vegetables are caused by 
Põ´PÔ £°ºPÎÀ ÷Áº•ia_PøÍ EshõUSÁx 

(A) Nematodes (B) Fungus 

 ¡Ø¦Ê  §gø\ 

(C) Rhizobium (D) Beetles 
 øμ÷\õ¤¯®  ÁskPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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27. The bacterium responsible for causing fire blight disease in apple
and pear is __________. 
B¨¤Ò ©ØÖ® ÷£›UPõ´ ©μzvÀ wUP¸PÀ ÷|õ´ HØ£kzx® £õUj›¯õ 
Gx? 

(A) Pectobacterium cartovorum  
 ö£U÷hõ£õUj›¯® Põºm÷hõ÷Áõμ® 

(B) Erwinia amylovora 

 GºÃÛ¯õ Aª÷»õ÷Áõμõ 

(C) Ralstonia solanacearum  
 μõÀì÷hõÛ¯õ ö\õ»õ÷Úõ^μ® 

(D) Pantoea stewartii 
 £õß÷hõ°¯õ ìjÁõºj 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

28. Choose the incorrect symptoms of damage caused by Mango nut
weevil. 
©õ £ÇU öPõsøh Ási°ß uÁÓõÚ uõUSuÀ AÔSÔ GßÚ? 

(A) Fruit dropping at marble stage.  
 ©õÁk EvºuÀ   

(B) Ovipositional injuries on marble sized fruits. 
 ©õÁkÂÀ ÁskPÒ •møh°kÁuõÀ ]Ö]Ö Põ¯[PÒ HØ£kuÀ  

(C) Tunneled cotyledons in ripped fruits.  
 ©õ £¸¨¦ £Sv Søh¢x Põn¨£kuÀ   

(D) All the leaves fell down. 
 ©õ ÂÀ GÀ»õ Cø»PÐ® EvºuÀ   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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29. Formation of corky encrustations on pods resulting in malformed
and shrivelled pods in cardamom indicate the infestation of 
H»UPõ°À, ö\õμö\õμ¨£õÚ ö\õÔ ÷£õßÖ HØ£mk ¤g_PÒ _¸[Q¨ 
÷£õÁuõÀ Põ°ß uμ® SøÓ²®. C¢u AÔSÔ G¢u §a]¯õÀ HØ£k®? 

(A) Bark borer (B) White grub 

 £møh xøÍ¨£õß  \õ®£À {Ó Ásk 

(C) Aphid (D) Thrips 
 A_Âo  Põ´¨÷£ß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

30. In coconut, warting and numerous longitudinal fissures on the husk
of developing nuts are the symptoms caused by 
öußøÚ°À CÍ® Põ´PÎÀ £¸ ©ØÖ® }ÍÁõUQÀ öÁi¨¦PÒ GuÚõÀ 
HØ£kQÓx? 

(A) Eriophyid mite (B) Rhinoceros beetle 

 D›÷¯õø£m ]»¢v¨÷£ß  Põshõª¸P Ásk 

(C) Red palm weevil (D) Root grub 
 ]Á¨¦U Ts Ásk  ÷Áº ¦Ê 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

31. Rice leaf folder belongs to the family 
ö|À Cø»a_¸mk¨¦Ê G¢u Sk®£zøua \õº¢ux? 

(A) Nymphalidae (B) Noctuidae 

 {®£õ¼÷h  |õUkÂ÷h 

(C) Bombycidae (D) Pyralidae 
 £õ®¤]÷h  ø£μõ¼÷h 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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32. Which of the following is incorrectly paired? 
RÌUPshÁØÖÒ Gx uÁÓõP¨ ö£õ¸zu¨£mkÒÍx? 

(A) Chemical control  — Use of insecticides  
 Cμ\õ¯Ú Pmk¨£õk  §a]U öPõÀ¼PÒ £¯ß£kzxuÀ   

(B) Mechanical control — Collection and destruction of insects 

 C¯¢vμ•øÓ Pmk¨£õk §a]PøÍ ÷\P›zuÀ ©ØÖ® AÈzuÀ  

(C) Genetic control — Use of botanicals  
 ©μ¤¯À Pmk¨£õk  uõÁμ¨ §a]öPõÀ¼PÒ £¯ß£kzxuÀ 

(D) Biological control  — Use of natural enemies 
 E°›¯À •øÓ   C¯ØøP Gv›PøÍ £¯ß£kzxuÀ   
 Pmk¨£õk  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

33. Gaseous form of chemical insecticide that penetrates through the
tracheal system and kills the insect is termed as 
§a]öPõÀ¼°¼¸¢x Á¸® |a_ PõØÖ, §a]°ß _Áõ\ SÇõ°ß EÒ÷Í 
ö\ßÖ A¢u §a]ø¯ öPõÀ¾ÁuØS ö£¯º GßÚ? 

(A) Stomach Poison (B) Nerve Poison 

 Á°ØÖ |g_  |μ®¦ |g_ 

(C) Fumigants (D) Contact Poison 
 Áõ² {ø» |g_  öuõk |g_ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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34. Use of flame throwers is useful for destroying 
ö|¸¨ø£ Ã_Áuß ‰»® ¤ßÁ¸® §a]PÐÒ G¢u §a]ø¯ AÈUP»õ®? 

(A) Stem borer (B) Locust 

 usk xøÍ¨£õß  öÁmkUQÎ (÷»õPìm) 

(C) Pod borer (D) White fly 
 Põ´ xøÍ¨£õß  öÁÒøÍ D 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

35. Yellow sticky traps are used to monitor the pest status of 
©g\Ò {Ó Jmk®ö£õÔ G¢u §a]ø¯ PsPõo¨¤ØPõP 
£¯ß£kzu¨£kQÓx? 

(A) White flies (B) Armyworm 

 öÁÒøÍ D  £øh¨¦Ê 

(C) Gall midge (D) Weevils 
 BøÚU öPõ®£ß D  Tß ÁskPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

36. Which one of the following crops is raised as border crop to monitor
Spodoptera litura? 
RÌUPshÁØÖÒ Gx ì÷£õ÷hõ¨iμõ ¼mkμõ øÁ PsPõo¨£uØS 
{»zøua _ØÔ _ØÖ ö\i¯õP ÁÍºUP¨£kQÓx? 

(A) Rice (B) Castor 

 ö|À  B©nUS 

(C) Cumbu (D) Sesame 
 P®¦  GÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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37. Propodeum is the fusion of 1st abdominal segment with __________. 
¦μ÷£õi¯® Gß£x §a]°ß Á°ØÔß •uÀ £Sv²® G¢u £Sv²® 
Cøn¢x E¸ÁõÚuõS®? 

(A) 2nd abdominal segment (B) Prothorax 

 Á°ØÔß CμshõÁx £Sv  •ß©õº¦ £Sv 

(C) Mesothorax (D) Metathorax 
 |k ©õº¦ £Sv  ¤ß ©õº¦ £Sv 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

38. Secretion of silk gland came out through a small pore which is 
situated on? 
£mk _μ¨¤ P]¢x öÁÎÁ¸® ]Ô¯ xøÍ G[÷P Aø©¢xÒÍx? 

(A) Dorsal horn  
 hõº\À öPõ®¦   

(B) Endopodite of 1st Maxilla 

 Gs÷hõ÷£õøhm ©ØÖ® •uÀ ÷©U]À»õ   

(C) Prostheca of mandible  
 ¦÷μõìwUPõ ©ØÖ® ÷©si¤À   

(D) Anterior part of hypopharynx 
 øí¨÷£õ÷£›ßìU •ß £Sv   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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39. What is Moriculture? 
÷©õ›PÀ\º Gß£x? 

(A) Cultivation of mulberry plants  
 ©Àö£› uõÁμzøu EØ£zv ö\´Áx 

(B) Rearing of Silkworm 

 £mk¨¦Ê ÁÍº¨¦ 

(C) Rearing of Honeybee  
 ÷uÛ ÁÍº¨¦ 

(D) Cultivation of Mushroom 
 PõÍõß EØ£zv 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

40. A typical insect possess the following appendages 
ö£õxÁõP, §a]PÎÀ GÆÁøP¯õÚ EÖ¨¦PÒ EÒÍÚ? 

(A) 3 pairs of legs, 2 pairs of antenna, 2 pairs of wings  
 ‰ßÖ ÷áõi PõÀPÒ, 2 ÷áõi EnºöPõ®¦PÒ ©ØÖ® 2 ÷áõi 

CÓUøPPÒ   

(B) 5 pairs of legs, 2 pairs of antenna, no wings 

 5 ÷áõi PõÀPÒ, 2 ÷áõi EnºöPõ®¦PÒ ©ØÖ® CÓUøPPÒ CÀø» 

(C) 3 pairs of legs, 1 pair of antenna, no wings  
 3 ÷áõi PõÀPÒ, 1 ÷áõi EnºöPõ®¦PÒ ©ØÖ® CÓUøPPÒ CÀø» 

(D) 3 pairs of legs, 1 pair of antenna, 2 pairs of wings 
 3 ÷áõi PõÀPÒ, 1 ÷áõi EnºöPõ®¦PÒ ©ØÖ® 2 ÷áõi CÓUøPPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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41. The phenomenon of the reversion of mature cells to the
meristematic state leading to the formation of callus is called 
•vºa] Aøh¢u ö\ÀPÒ «sk® BUSzv_ÁõP ©õÔU ÷P»ì ÷£õßÓ 
v_øÁ E¸ÁõUS® {PÌa] —————— GÚ AøÇUP¨£kQÓx. 

(A) Redifferentiation (B) Dedifferentiation 

 ©Ö÷ÁÖ£õkÖuÀ  ÷ÁÖ£õk CÇzuÀ 

(C) Embryogenesis (D) Somatic embryogenesis 
 P¸Ä¸ÁõUP®  EhÀ P¸Ä¸ÁõUP® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

42. The genetic potential of a plant cell to give rise to a complete plant is
called as 
©μ¤¯À vÓßPøÍU öPõsh E°¸ÒÍ uõÁμaö\À •Ê uÛz uõÁμ©õP 
ÁÍºa]¯øh²® £s¤ØS ö£¯º. 

(A) Callus (B) Embryogenesis 

 ÷P»ì  P¸Ä¸ÁõUP® 

(C) Totipotency (D) Somatic hybridization 
 •Ê BUSzvÓß  EhÀ P»¨¤Ú©õUPÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



431 – AGRICULTURE  
 

20

43. Antibiotics are used to reduce or eliminate contaminants in plant
tissue culture 
v_ ÁÍº¨¦ •øÓ°À ~sQ¸ªPÒ uõUSuø» SøÓUP AÀ»x }UP 
E£÷¯õP¨£k® ~sq°º Gvºö£õ¸Ò 

(1) Neomycin 
 {÷¯õø©]ß 

(2) Ampicillin 
 B®¤]¼ß 

(3) Polymixin 
 £õ¼ªUêß 

(4) Erythromycin 
 G›z÷μõø©]ß 

(A) (1), (2) and (3) (B) (1), (3) and (4) 

 (1), (2) ©ØÖ® (3)  (1), (3) ©ØÖ® (4) 

(C) (2), (3) and (4) (D) (1), (2), (3) and (4) 
 (2), (3) ©ØÖ® (4)  (1), (2), (3) ©ØÖ® (4) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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44. Pre sowing seed hardening treatment with __________ enhances
germination, seedling growth of rainfed crop and with stand drought
condition. 
©õÚõÁõ›°À öPõzu©À¼ \õS£i ö\´²® ÷£õx, ÂøuPøÍ —————
vμÁzvÀ |øÚzx Âøu¨£uõÀ, ÂøuPÎß •øÍ¨¦zvÓß AvP›zx, 
ÁÓm]ø¯ uõ[Q ÁÍºQÓx. 

(A) Calcium chloride @ 10g/lit  

 PõÀ]¯® S÷Íõøμk J¸ ¼mh¸US 10 Qμõ®  

(B) Potassium chloride @ 10g/lit 

 ö£õmhõ]¯® S÷Íõøμk J¸ ¼mh¸US 10 Qμõ® 

(C) Sodium dihydrogen phosphate @ 10g/lit   
 ÷\õi¯® øhøímμáß £õì÷£m ¼mh¸US 10 Qμõ®   

(D) Potassium dihydrogen phosphate @ 10g/lit 
 ö£õmhõ]¯® øhøímμáß £õì÷£m J¸ ¼mh¸US 10 Qμõ® 

  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

45. All spice flavour resembles the blend of 
\ºÁ_P¢v°ß |Ö©n® RÌPshÁØÔß GÁØÔß |Ö©nzøu¨ ÷£õÀ 
C¸US®. 

(A) Cinnamon, Cardamom, Curcuma  
 £møh, H»®, ©g\Ò   

(B) Clove, Cardamom, Cinnamon 

 Qμõ®¦, H»®, £møh  

(C) Nutmeg, Clove, Cardamom  
 áõvUPõ´, Qμõ®¦, H»®  

(D) Cinnamon, Clove, Nutmeg 
 £møh, Qμõ®¦, áõvUPõ´  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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46. Chinese cinnamon 
ø\Úõ ]ßÚ©õ® 

(A) Cinnamomum verum (B) Cinnamomum zeylanicum 

 ]ßÚ©õ® Ãμ®  ]ßÚ©õ® ø\÷»ÛUP® 

(C) Cinnamomum cassia (D) Cinnamomum officinalis 
 ]ßÚ©õ® ÷Pê¯õ  ]ßÚ©õ® A¤]Úõ¼ì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

47. What is the pod colour in Criollo type of Cocoa? 
÷Põ÷PõÂÀ Qøμ¯÷»õ ÁøP°ß {Ó® GßÚ? 

(A) Yellow (B) Dark green 

 ©g\Ò  Ahº £aø\ 

(C) Dark red (D) Pink 
 Ahº ]Á¨¦  CÍ® ]Á¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

48. King of Spices 
Áõ\øÚ¨ £°ºPÎß μõáõ (King of Spices) 

(A) Pepper (B) Cardamom 

 ªÍS  H»® 

(C) Rubber (D) Turmeric 
 μ¨£º  ©g\Ò 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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49. Plants in the hedges are frequently pruned to maintain a height of 
öímä uõÁμ[PøÍ G¢u E¯μzvÀ ÁÍμ AÆÁ¨÷£õx öÁmi Âh 
÷Ásk®? 

(A) 10 – 50 cm (B) 5 – 25 cm 

 10 – 50 ö\.«.  5 – 25 ö\.«. 

(C) 50 – 100 cm (D) 50 – 75 cm 
 50 – 100 ö\.«.  50 – 75 ö\.«. 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

50. Bonsai culture originated in __________ country. 
“÷£õß\õ´” Smøhz uõÁμ® ÁÍº¨¦ •øÓ G¢u |õmiÀ E¸ÁõÚx? 

(A) China (B) Japan 

 ^Úõ  á¨£õß 

(C) Korea (D) Thailand 
 öPõ›¯õ  uõ´»õ¢x 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



431 – AGRICULTURE  
 

24

51. Match the varieties and crops : 
RÌUPsh ©»ºPøÍ AÁØÔß μP[P÷Íõk ö£õ¸zxP : 
(a) Crossandra 1. Pusa Narangi Gainda  
 PÚPõ®£μ®   §\õ |õμ[Q øPshõ 
(b) Jasminium 2. Arka Swarna  
 grandiflorum 
 ¤a]¨§  AºUPõ _Áºnõ 
(c) Tuberose 3. Arka Surabi  
 \®£[Q  AºUPõ _μ¤ 
(d) Marigold 4. Arka Ambara  
 ö\sk©À¼  AºUPõ A®£õμõ 

(e) Chrysanthemum 5. Arka Nirantar  
 ö\ÆÁ¢v  AºUPõ {μ¢uμõ 

 (a) (b) (c) (d)     (e) 
(A)  1  2  3  4      5   
(B)  2  3  4  1      5     
(C)  4  3  5  1      2    
(D)  1  2  4  5      3    
(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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52. Development of small curds called buttons is due to __________
deficiency in cauliflower. 
Põ¼¤ÍÁº Põ´PÔ¨ £°›À ]Ô¯ ÁøP § ö©õmk ÷uõßÖÁuØPõÚ 
Põμn®  

(A) Deficiency of nitrogen alone  

 ø|mμáß \zx SøÓ£õmiÚõÀ ©mk® 

(B) Temperature stress alone 
 öÁ¨£{ø» ©õØÓzvÚõÀ ©mk® 

(C) Poor quality seedlings  
 uμ® SøÓÁõÚ |õØÖUPøÍ |kÁuõÀ  

(D) All the above 
 CøÁ¯øÚzx® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

53. __________ is used to control storage sprouting of onion and garlic. 
—————— GßÓ ÷Áv¨ö£õ¸øÍ £¯ß£kzv, öÁ[Põ¯® ©ØÖ® §sk 
÷\ª¨¦U Põ»[PÎÀ •øÍzuÀ ukUP¨£kQÓx. 

(A) Maleic hydrazide (B) Benzyl Adenine 

 ©¼U øímμøém  ö£ßø\À AiøÚß 

(C) Gibberellic acid (D) NAA 
 â¨μ¼U Aª»®  Gß.G.G. 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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54. What is the family of French beans? 
¤μßa ¥ßêß Sk®£ ö£¯º GßÚ? 

(A) Leguminosae (B) Euphorbiaceae 

 ö»Sª÷Úõ÷\  ³L£õº÷£]÷¯ 

(C) Cucurbitaceae (D) Malvaceae 
 STº¤m÷h]÷¯  ©õÀ÷Á]÷¯ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

55. Which is the perennial vegetable? 
£À»õsk ÁÍ¸® Põ´PÔ Gx? 

(A) Artichoke (B) Amaranthus 

 Bºmi÷\õU  A©μõ¢zuì Røμ 

(C) Sweet potato (D) Tomato 
 \ºUPøμ ÁÒÎ QÇ[S  uUPõÎ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

56. Drop of buds, flowers, fruits is typical symptom of __________
deficiency. 
RÌPsh —————— Po© £ØÓõU SøÓ°ÚõÀ §ö©õmk, §, £Ç® 
EvºuÀ HØ£kQßÓx. 

(A) Boron (B) Calcium 

 ÷£õμõß  PõÀ]¯® 

(C) Nitrogen (D) Potassium 
 ø|mμáß  ö£õmhõ]¯® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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57. The factor responsible for black tip fruit disorder in Mango is 
©õÂÀ £Ç P¸ ~Û £õv¨¦US Põμn©õÚx 

(A) Low temperature during fruit development  
 £Ç ÁÍºa]°ß ÷£õx {»Ä® SøÓ¢u öÁ¨£®   

(B) High relative humidity during flowering 

 §US® ÷£õx {»Ä® E¯º Dμ¨£u® 

(C) Low soil moisture  
 SøÓ¢u ©s Dμ¨£u®  

(D) Brick kiln near mango orchard 
 ©õ £Çz÷uõmh® A¸QÀ EÒÍ ö\[PÀ `øÍ  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

58. Planting of suckers in pineapple requires __________ months for first 
harvest. 
Asnõ] £Çö\iPøÍ £UPUPßÖPÒ (sucker) ‰»® |hÄ ö\´uõÀ 
£Ç[PÒ •uÀ AÖÁøhUS Áμ —————— ©õu[PÒ BS®. 

(A) 15 – 18 (B) 24 – 25 

(C) 28 – 30 (D) 32 – 34 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

59. The salinity tolerant rootstock of grapes 
vμõmø\°À E¨¦zußø©ø¯z uõ[S® ÷ÁºUSa] 

(A) Dogride (B) Anab-e-shahi 

 hõU›a  AÚ¤ \õQ 

(C) Beauty seedless (D) Tas-a-Ganesh 
 ¤³mi ^mö»ì  uõì&C&P÷nè 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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60. Following growth regulators has higher potential for rooting of
cuttings 
—————— GßÓ ÁÍºa] FUQ, £°ºPÎÀ ÷ÁºPÒ EshõÁuØS 
Põμn©õP°¸UQÓx. 

(A) GA (B) NAA 

 áú¨μ¼U Aª»®  Gß.G.G. 

(C) Ethylene (D) TIBA 
 Gzv½ß  i£õ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

61. Match and order the Column (2) with Column (1) : 
¤ßÁ¸® •uÀ £õPzvØS Cøn¯õÚ CμshõÁx £õPzøu ö£õ¸zv
Á›ø\ £kzxP : 
 Column (1)  Column (2) 
 £õP® (1)  £õP® (2) 
(a) Quantum-sensor 1. Atmospheric pressure 
 SÁõsh® ö\ß\õº  PõØÔß AÊzu® 
(b) Lux meter 2. PAR 
 »Uì «mhº  JÎa÷\ºUøP – Pvº Ãa_ (PAR) 
(c) Aneroid barometer 3. Wind speed 
 AÛμõ´k £õμõ «mhº  PõØÔß ÷ÁP® 
(d) Anemometer 4. Light intensity 
 AÛ÷©õ«mhº  JÎ°ß Ahºzv 

 (a) (b) (c) (d) 
(A)  2  4  3  1    
(B)  4  3  2  1     
(C)  2  4  1  3    
(D)  1  2  3  4    
(E) Answer not known 
 Âøh öu›¯ÂÀø» 



   431 – AGRICULTURE 
  [Turn over 

29

62. Ratooning is commonly practised in __________ Tree Cultivation. 
ö£õxÁõP ©Öuõ®¦ •øÓ G¢u ©μ ÁÍº¨¤À ¤ß£ØÓ¨£kQÓx. 

(A) Neem (B) Casurina 

 ÷Á®¦  \ÄUS 

(C) Eucalyptus (D) Manjium 
 ³Põ¼¨hì  ©õg]¯® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

63. __________ is an example for Multipurpose Tree. 
———— ©μ® £À ÁøP £¯ÝÒÍ ©μ® GÚ AøÇUP¨£kÁx. 

(A) Prosophis (B) Neem 

 ^ø©÷ÁÀ P¸øÁ  ÷Á¨£ ©μ® 

(C) Copper Sheild tree (D) Mango 
 C¯À ÁõøP  ©õ©μ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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64. Match List I and List II : 

Á›ø\ I ©ØÖ® Á›ø\ II iøÚ ö£õ¸zxP : 
 List I  List II 
 Á›ø\ I  Á›ø\ II 
(a) Regular forest 1. Uneven aged 
 •øÓ ÁÚ®  öÁÆ÷ÁÖ Á¯xøh¯ ©μ® 
(b) Irregular forest 2. Only one species  
 •øÓ¯ØÓ ÁÚ®  J÷μö¯õ¸ ]ØÔÚ® 
(c) High forest 3. Even aged woods  
 E¯μ ÁÚ®  Jzu Á¯xøh¯ ©μUPmøh 
(d) Pure forest 4. Regenerated by seeds  
 y´ø© ÁÚ®   Âøu°ß ‰»® ©Ö E¸ÁõUP® 

 (a) (b) (c) (d) 
(A)  3  1   4  2    
(B)  1  3   2  4     
(C)  4  2   1  3    
(D)  1  3   4  2    
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

65. The branch of forestry which satisfies the needs of rural and urban
population is __________. 
Qμõ©¦Ó ©ØÖ® |Pº¨¦Ó ©UPÐUS £¯ÝÒÍ ÁøP°À PõkPÒ ÁÍº¨£uØS 
ö£¯º GßÚ? 

(A) Social forestry  (B) Agro forestry 

 \‰PU PõkPÒ  ÷ÁÍõs Põk 

(C) Extension forestry (D) Farm forestry 
 Â›ÁõUPU Põk  £søn Põk 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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66. __________ percentage of geographical area in India is occupied by
forests. 
C¢v¯õÂß ö©õzu ¦Â°¯À {»¨£μ¨¤À PõkPÎß \uÃu® ———— 

(A) 22.9% (B) 33.33% 

(C) 16.13% (D) 11.15% 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

67. __________ land use system integrates trees, crops and animals. 
———— {»¨ £¯ß£õmk •øÓ ©μ[PÒ £°ºPÒ, ©ØÖ® Â»[SPøÍ 
J¸[QønUQÓx. 

(A) Forestry  

 Põk ÁÍº¨¦  

(B) Agri Sylvipastoral 
 ÷ÁÍõs ÷©´a\À Põk ÁÍº¨¦ 

(C) Joint forest management  
 Tmk ÁÚ ÷©»õsø©  

(D) Agri Pisciculture 
 ÷ÁÍõs «ß ÁÍº¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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68. In India, Toungya system is practised in 
C¢v¯õÂÀ, hõ[Q¯õ \õS£i vmh® ö\¯À£kzu¨£k® ©õ{»[PÒ  

(I) Kerala 
 ÷PμÍõ 

(II) West Bengal 
 ÷©ØS Á[PõÍ® 

(III) Uttar Pradesh 
 Ezvμ ¤μ÷u\® 

(IV) Rajasthan  
 μõáìuõß 

(A) I, II and III (B) I, III and IV 

 I, II ©ØÖ® III  I, III ©ØÖ® IV 

(C) II, III and IV (D) I, II and IV 
 II, III ©ØÖ® IV  I, II ©ØÖ® IV 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

69. Rearing honey bees along with tree crops is __________ system on
structural basis. 
©μ® ©ØÖ® ÷uÜ ÁÍº¨¦, Aø©¨¦PÎß Ai¨£øh°»õÚ ÷ÁÍõs ÁÚz 
vmh[PÎÀ ———— ÁøPø¯a \õº¢ux? 

(A) Agrisilvicutural  (B) Silvipastoral 

 ÷ÁÍõs ©μ ÁÍº¨¦  ÷©´a\À ©μ ÁÍº¨¦ 

(C) Agrisilvipastoral (D) Other systems 
 ÷©´\\À ©μ ÷ÁÍõsø©  ÷ÁÖ vmh[PÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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70. The shape of shelter belt is __________. 
“PõØÖ Aμoß” ÁiÁ® ———— 

(A) Square (B) Rectangular 

 \xμ®  ö\ÆÁP® 

(C) Round (D) Triangle 
 Ámh®  •U÷Põn® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

71. __________ is considered to be one of the best vegetative hedges in
drylands. 
–––––––––– uõÁμ® ÁÓsh {»[PÎß ÷Á¼PÎÀ |kÁuØS ªPÄ® HØÓx?

(A) Hariyali (B) Mustard 

 A¸P®¦À  PkS ö\i 

(C) Subabul (D) Vetiver 
 _£õ¦À  öÁmi÷Áº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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72. Beneficial effect of raising crops in strip cropping is 
Á›ø\a \õS£i •øÓ°ß ]Ó¢u £¯ßPÒ GßÚöÁÛÀ 

(A) to conserve the soil and control erosion  
 ©s ÁÍ Põ¨¦, ©s A›©õÚ uk¨¦ 

(B) to reduce wastes 

 £°º ÷\uzøu SøÓ¨£x 

(C) to protect the crop cultivation  
 £°º \õS£i £õxPõzuÀ  

(D) to minimize the yield loss 
 £°º ©P`ø» vÓøÚ SøÓUP»õ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

73. Problems in Alfisols under dry land agriculture is/are __________. 
©õÚõÁõ› {» ö\®©soÀ EÒÍ ¤μa\øÚPÒ 

(A) Rapid drying of top soil  
 ÷ÁP©õÚ ÷©Ø¦Ó ©s Põ´uÀ   

(B) Surface crusting 

 CÖQ¯ ÷©Ø£μ¨¦   

(C) Deficiency in nitrogen and Phosphorus nutrient  
 uøÇ ©ØÖ® ©oa\zx SøÓ£õk   

(D) All of these 
 ÷©Øö\õßÚ AøÚzx®   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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74. The stomatal closing type of antitranspirant is __________. 
Cø»z xøÍø¯ ‰ha ö\´²® }μõÂ¨÷£õUS uk¨£õß ö£¯º ———— 

(A) PMA (B) Mobiliaf 

 ¤G®H  ö©õ¤½L¨   

(C) Kaoline (D) Silicon 
 P÷¯õ¼ß  ]¼UPõß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

75. Number of dry land farming zones in India is __________. 
C¢v¯õÂÀ Põn¨£k® ÁÓsh {» ÂÁ\õ¯ ©sh»[PÎß GsoUøP 
GzuøÚ? 

(A) Four zones (B) Three zones 

 |õßS ©sh»[PÒ  ‰ßÖ ©sh»[PÒ 

(C) Two zones (D) Five zones 
 Cμsk ©sh»[PÒ  I¢x ©sh»[PÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

76. ICRISAT is located at 
ICRISAT Aø©¢xÒÍ Ch® 

(A) New Delhi (B) Bangaluru 

 ¦x öhÀ¼  ö£[PÑ¸ 

(C) Hyderabad (D) Chennai 
 øíuμõ£õz  ö\ßøÚ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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77. Match the crop with their drought tolerant varieties under Tamil
Nadu condition : 
uªÇPzvØ÷PØÓ ÁÓm]ø¯z uõ[Q ÁÍ¸® CμPzvøÚ Auß £°¸hß
ö£õ¸zxP : 

(a) Paddy 1. VRI 1  
 ö|À   Â¸zuõa\»® 1 
(b) Red gram 2. CO3  
 xÁøμ  ÷Põ – 3 
(c) Groundnut 3. PMK1  
 {»UPhø»  £μ©USi 1 
(d) Black gram 4. SA1  
 EÐ¢x  öuß BØPõk 1 

 (a) (b) (c) (d) 
(A) 4  3  2  1    
(B) 2  1  3  4     
(C) 3  4  1  2    
(D) 1  2  4  3    
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

78. Formation of deep cracks is the unique feature of __________ soil
order. 
©soÀ BÌ öÁi¨¦PÒ E¸ÁõUPUTi¯ ©s Á›ø\ ———— BS®. 

(A) Alfisol (B) Entisol 

 AÀ¤\õÀ  Gßi\õÀ 

(C) Mollisol (D) Vertisol 
 ö©õÀ¼\õÀ  öÁºi\õÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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79. __________ is a season has potential for crop production in dry land
areas of Tamil Nadu. 
uªÇPzvÀ ©õÚõÁõ›¨ £SvPÎÀ £°º EØ£zvUS ªPÄ® EP¢ux 
———— 

(A) Winter (B) Summer 

 SÎºU Põ»®  ÷PõøhU Põ»® 

(C) Monsoon (D) All through the year 
 £¸Á ©øÇU Põ»®  Bsiß GÀ»õ Põ»[PÎ¾® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

80. Match the following antitranspirants with their types : 
}μõÂ ÷£õUS uk¨£õßPøÍ Auß ÁøPP÷Íõk ö£õ¸zxP : 
 Antitranspirants  Type 
 }μõÂU÷£õUS uS¨£õßPÒ  ÁøP 
(a) Cycocel 1. Film forming  
 ø\U÷Põö\À  ö©À¼¯ £h»® Aø©US® 
(b) Kaolin 2. Stomatal closing 
 P÷¯õ¼ß  Cø»zxøÍø¯ ‰haö\´²® 
(c) Mobileaf 3. Growth retardant 
 ö©õ¤½L¨  ÁÍºa] SøÓ¨£õß 
(d) PMA 4. Reflectant 
 ¤G®H  ¤μv£¼zuÀ 

 (a) (b) (c) (d) 
(A)  3  2  1  4    
(B)  1  4  3  2     
(C)  2  1  3  4    
(D)  3  4  1  2    
(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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81. Foliar application of 2% DAP is recommended for increasing the
productivity of __________. 
G¢u £°›ß EØ£zvz vÓøÚ ö£¸UP 2% iH¤ Pøμ\À öuÎUP¨ 
£›¢xøμUP¨£kQÓx? 

(A) Wheat (B) Rice 

 ÷Põxø©  ö|À 

(C) Rice fallow Black gram (D) Gingelly 
 ö|À u›_ EÐ¢x  GÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

82. __________ pair of herbicides where both are non-selective. 
————— ÷áõi PøÍUöPõÀ¼PÒ Cμsk® öu›Ä ö\´x Pmk¨£kzuõu 
ÁøPø¯ \õº¢ux 

(A) Atrazine and Glyphosate (B) Atrazine and Paraquat 

 Amμõ]ß ©ØÖ® QøÍ÷£õ÷\m  Amμõ]ß ©ØÖ® £μõSÁm 

(C) Paraquat and Glyphosate (D) Metribuzine and Atrazine 
 £μõSÁm ©ØÖ® QøÍ÷£õ÷\m  ö©m›¦âß ©ØÖ® Amμõ]ß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

83. __________ is a perennial Red gram variety. 
£À»õsk £»ß u¸® xÁøμ μP® Gx? 

(A) BSR1 (B) CO 6 

 ¤GìBº 1  ÷Põ 6 

(C) Vamban 1 (D) Vamban 2 
 Á®£ß 1  Á®£ß 2 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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84. The blanket recommendation of fertilizers for irrigate Sorghum in
Tamil Nadu is __________.  
uªÇPzvÀ CμøÁ ÷\õÍzvØPõÚ Cμ\õ¯Ú Eμ[PÎß ö£õx¨ £›¢xøμ 
Gx? 

(A) 40 : 20 : 20 Kg NPK ha–1 (B) 60 : 30 : 30 Kg NPK ha–1 

(C) 90 : 45 : 45 Kg NPK ha–1 (D) 120 : 60 : 60 Kg NPK ha–1 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

85. The root parasite infesting the crops of the family Graminae such as 
Sorghum, Maize and Sugarcane is 
¦À ÁøP Sk®£zøua \õº¢u ÷\õÍ®, ©UPõ÷\õÍ® ©ØÖ® P¸®¦a 
£°ºPÎß ÷ÁºPøÍz uõUS®, ÷£º JmksoUPøÍ Gx? 

(A) Loranthus (B) Orobanche 

 ÷»õμõ¢uì  K÷μõ£õ[Q 

(C) Cuscutta (D) Striga 
 PìSmhõ  ìmøμPõ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

86. __________ is a selective herbicide. 
¤ßÁ¸ÁÚÁØÖÒ Gx öu›Ä ö\´u (selective) PøÍUöPõÒÎ? 

(A) Atrazine (B) Glyphosate 

 Amhμ]ß  QøÍ¨÷£õ÷\m 

(C) Paraquat (D) Diquat 
 ÷£μõSÁõm  øhSÁõm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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87. __________ is an example for contact herbicide. 
öuõk |g_ PøÍUöPõÀ¼ Gx? 

(A) Propanil (B) Fluchloralin 

 ¦÷μõ£õÛÀ  ¦ÑS÷Íõμ¼ß 

(C) Paraquat (D) Simazine 
 £õμõSÁõm  ]©]ß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

88. Suitable examples of pre-emergence herbicides are 
PøÍPÒ •øÍUS® •ßÚ÷μ Pmk¨£kzx® PøÍU öPõÀ¼PÐUS 
Euõμn©õP: 

(i) Butachlor, Pendimethalin, Oxy-Fluorfen 
 ¤³m÷hõS÷Íõº, ö£ßiö©zu¼ß, BUê–¦÷Íõ÷μõLö£ß 

(ii) Fluchloralin, 2, 4-D, Byspyribac sodium 
 ¦÷ÍõS÷Íõμ¼ß, 2,4–i, ¤ìø£›÷£U ÷\õi¯® 

(iii) Glyphosate, Paraquat, Diuron 
 QøÍ÷£õ÷\m, £õμõSÁm, øh³μõß 

(iv) Pretilachlor, Imazethapyr, 2, 4-D 
 ¤›iÀ»õS÷Íõº, C©õìvø£º, 2,4–i 

(A) (i), (ii) and (iii) (B) (ii) and (iii) 

 (i), (ii) ©ØÖ® (iii)  (ii) ©ØÖ® (iii) 

(C) (i), (iii) and (iv) (D) (i) alone 
 (i), (iii) ©ØÖ® (iv)  (i) ©mk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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89. The force with which a thin film of water is held in soil particle is
__________. 
©s xPÒPÎÀ ö©À¼¯ }º¨ £h»zøu¨ ¤izx øÁUP Põμn©õÚ Âø\ 

(A) Cohesion force (B) Adhesion force 

 Jmkø© Âø\  £μ¨¦ Jmk Âø\ 

(C) Surface tension (D) Osmosis 
 £μ¨¦ CÊ Âø\  \ÆÅk £μÁÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

90. Application of fertilizer through irrigation water is called as
__________. 
}º ÁÈ¯õP Eμªk® •øÓ ÷ÁÍõsø©°À GÆÁõÖ AøÇUP¨£kQÓx? 

(A) Fertigation (B) Herbigation 

 ö£ºmi÷Påß  öíº¤÷Påß 

(C) Chemigation (D) Leaching 
 Qª÷Påß  }ºUP]Ä 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

91. South West Monsoon starts first at __________ State of India. 
öuß÷©ØS £¸Á©øÇ •u¼À C¢v¯õÂß –––––––––– ©õ{»zvÀ 
öuõh[SQÓx. 

(A) Tamil Nadu (B) Karnataka 

 uªÌ|õk  Pº|õhP® 

(C) Kerala (D) Andhra Pradesh 
 ÷PμÍõ  B¢vμ ¤μ÷u\® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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92. __________ no. of categories of irrigation water are available based
on Sodium Adsorption Ratio (SAR). 
÷\õi¯zøu EmQμîUS® ÂQuzøu ö£õÖzx, ————— £õ\Ú }º 
ÁøPPÒ EÒÍÚ. 

(A) 2 (B) 3 

(C) 4 (D) 5 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

93. The 2CO  concentration in the atmosphere is __________. 
ÁÎ©sh»zvÀ P›©»Áõ²Âß \uÃu® GÆÁÍÄ? 

(A) 0.33% (B) 0.033% 

(C) 23.14% (D) 1.28% 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

94. Minimum rainfall to classify as rainy day is __________. 
©øÇ¨ö£õÈÄ |õÒ GßÖ SÔ¨¤h ————— SøÓ¢u £m\ ©øÇ AÍÄ 
÷uøÁ. 

(A) 1.5 mm (B) 1.0 mm 

 1.5 ª«  1.0 ª« 

(C) 2.5 mm (D) 2.0 mm 
 2.5 ª«  2.0 ª« 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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95. The plants grow better under shaded conditions are called
__________. 
{Ç¼À |ßÓõP ÁÍ¸® uõÁμ[PøÍ ————— GßÖ AøÇ¨£º. 

(A) Sciophytes (B) Heliophytes 

 ]÷¯õø£mì  î¼÷¯õø£mì 

(C) Heterotrophs (D) Halophytes 
 öími÷μõiμõ¨ì  ÷í÷»õø£mì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

96. The Cauvery Delta Zone includes __________ districts. 
PõÂ› öhÀhõ ©sh»zvß £SvPÍõP ————— ©õÁmh[PÒ Ah[S®. 

(A) Erode, Coimbatore, Dindigal, Nilgiris, etc.  
 D÷μõk, ÷Põ¯®¦zyº, vskUPÀ, }»Q›, •u»õÚøÁ   

(B) Thanjavur, Thiruvarur, Trichy, Nagapattinam, etc. 
 ug\õÅº, v¸Áõ¹º, v¸a], |õP¨£miÚ®, •u»õÚøÁ   

(C) Sivagangai, Ramanathapuram, Tuticorin, etc.  
 ]ÁP[øP, Cμõ©|õu¦μ®, yzxUSi, •u»õÚøÁ   

(D) Dharmapuri, Krishnagiri, Salem, etc. 
 uº©¦›, Q¸ènQ›, ÷\»® •u»õÚøÁ   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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97. Growing of two or more crops on the same piece of land is called as 
J¸ {»zvÀ CμskUS® ÷©Ø£mh £°ºPøÍ \õS£i ö\´²® •øÓ 
————— GßÓøÇUP¨£k® 

(A) Multiple cropping (B) Inter cropping 

 £» £°º \õS£i  Fk £°º \õS£i 

(C) Relay cropping (D) Mono cropping 
 öuõhº £°º \õS£i  uÛ £°º \õS£i 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

98. The Green Leaf Manure is __________. 
————— £_¢uøÇ Eμ¨£°μõS®. 

(A) Sesbania aculeata  

 ö\ì÷£Û¯õ AUS¼÷¯mhõ (uUøP¨ §sk)   

(B) Glyricidia maculeata 
 QøÍ›]i¯õ ©õUS¼÷¯mhõ 

(C) Crotalaria juncea  
 S÷μõmh÷»›¯õ á[]¯õ (\n¨ø£)  

(D) Tephrosia purpurea 
 öh¨÷μõ]¯õ £º§›¯õ (öPõÎg]) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

99. __________ is the small millet. 
————— Gß£x ]ÖuõÛ¯ £°º. 

(A) Cumbu (B) Rice 

 P®¦  ö|À 

(C) Sorghum (D) Tenai 
 ÷\õÍ®  vøn 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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100. Choose the incorrect pair 
RÌPshÁØÖÒ, Gx uÁÓõP¨ ö£õ¸zu¨£mkÒÍx? 

(A) Fibre crop – Sunnhemp  

 |õº¨ £°º – \n¨ø£  

(B) Minor millets – Maize 
 ]ÖuõÛ¯¨£°º–©UPõa ÷\õÍ® 

(C) Legume crop – Soybean   
 £¯Ö ÁøP¨£°º – ÷\õ¯õö©õaø\  

(D) Oil seed crop – Safflower 
 Gsön´ Âzx¨£°º – S_®£õ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

101. ‘Power Point’ is classified under 
£Áº£õ°sm (Power Point) Gß£x RÌPsh G¢u ¤›ÂÀ 
ÁøP¨£kzu¨£k®? 

(A) Non projected Visual aid  
 JÎ³mh¨£hõu Põs ÁøP   

(B) Projected Visual aid 

 JÎ³mh¨£mh Põs ÁøP   

(C) Projected Audio Visual aid  
 JÎ³mh¨£mh ÷PÒ Põs ÁøP   

(D) Non projected audio-visual aid 
 JÎ³mh¨£hõu ÷PÒ&Põs ÁøP   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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102. Find out the wrong statement regarding Information
Communication Technology (ICT). 
uPÁÀ öuõhº¦ öuõÈÀ~m£® (ICT) £ØÔ¯ uÁÓõÚ TØøÓ PshÔP 

(A) ICT enable us to get information at doorstep  
 ICT ‰»® uPÁÀPøÍ |õ® ÃmkÁõ\¼À ö£Ó•i²®   

(B) ICT are interactive 

 ICT ‰»® Fhõh •i²®   

(C) ICT can over come time and distance barrier  
 ICT ÷|μ® ©ØÖ® öuõø»Ä uøhPøÍ PøÍQÓx   

(D) ICT are best to replace face to face contact 
 ÷|¸US ÷|º GßÓ •øÓUS ]Ó¢u ©õØÖ ICT BS®   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

103. Uzhavar Sandhais are administered under  
EÇÁº \¢øuø¯ {ºÁQUS® xøÓ 

(A) Dept. of Agricultural Marketing and Agri Business  
 ÷ÁÍõs \¢øu¨£kzxuÀ ©ØÖ® ÷ÁÍõs ÁoPz xøÓ    

(B) Dept. of Horticulture 

 ÷uõmhUPø»z ©ØÖ® ©ø»¨£°ºPÒ xøÓ   

(C) Dept of Agriculture and Farmers Welfare  
 ÷ÁÍõs ©ØÖ® EÇÁº |»zxøÓ   

(D) Agriculture Technology Management Agency   
 ÷ÁÍõs öuõÈÀ~m£ ÷©»õsø© •Pø©   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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104. A extension method employed for determining the suitability of a
new practice in farmer’s situation 
Á¯ÀöÁÎ°À ¦x ²UvPøÍ øP¯õÒÁvÀ EÒÍ |øh•øÓ ]UPÀPøÍ 
AÔÁuØPõÚ Â›ÁõUP •øÓ 

(A) Campaign  

 ¤μa\õμ®  

(B) Minikit trail 
 ªÛ Qm ÷\õuøÚ 
(C) Result demonstration  
 £¯ß AÔu¾UPõÚ ö\¯À ÂÍUP®   

(D) Method demonstration 
 •øÓ £ØÔ¯ ö\¯À ÂÍUP® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

105. Urban society comprises of this type of families 
|Pº¨¦Ó ÁõÌ \•uõ¯zvß Sk®£ Aø©¨¦PÒ 

(A) small and nuclear family (B) joint family 

 ]Ô¯ ©ØÖ® uÛU SizuÚ®  TmkU Sk®£[PÒ 

(C) rich family (D) hostel living 
 £nUPõμU Sk®£[PÒ  Âkv ÁõÌUøP•øÓ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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106. Which of the following is a primary colour? 
¤ßÁ¸ÁÚÁØÔÀ •ußø© {Ó® Gx? 

(A) Orange (B) Pink 

 Bμg_  CÍg]Á¨¦ 

(C) Red (D) Violet 
 ]Á¨¦  Fuõ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

107. The resolution of digital camera is measured by 
iâhÀ ¦øP¨£h P¸Â°ß öuÎÄzvÓß AÍÂk® A»S 

(A) Milli Micron (B) Milli Meter 

 ªÀ¼ ø©Uμõß  ªÀ¼ «mhº 

(C) Pixel (D) Nano Meter 
 ¤Uö\À  |õ÷Úõ «mhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

108. The person who adopt an innovation before every average member
of the society does it 
\‰Pzvß JÆöÁõ¸ \μõ\› EÖ¨¤Ú¸® ¦xø©ø¯ Pøh¤i¨£uØS •ß¦ 
Aøu ¤ß£ØÖ£Á¸US GßÚ ö£¯º? 

(A) Innovators (B) Early majority 

 ¦zuõUQPÒ  Bμ®£ ö£¸®£õßø© 

(C) Early adopters (D) Late adopters 
 Bμ®£Põ» HØÖUöPõÒ£ÁºPÒ  uõ©u©õP HØÖUöPõÒ£ÁºPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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109. What is the highest level of need of man according to Maslow-
hierarchy of needs theory? 
AÔbº ©õì÷»õ ©ÛuÛß ÷uøÁPøÍ ÁøP¨£kzv JÊ[S ö\´u 
TØÔß £i ©ÛuÛß E¯ºzu £mh ÷uøÁ ¯õx? 

(A) Physiological need (B) Security need 

 Eh¼¯UP ÷uøÁPÒ  £õxPõ¨¦z ÷uøÁPÒ 

(C) Esteem need (D) Self actualisation need 
 ©v¨¤ØPõÚ ÷uøÁPÒ  uß{ø» En¸® ÷uøÁPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

110. Find the odd statement related to rural society 
FμP \‰P® £ØÔ¯ RÌUPsh TØÔÀ uÁÓõÚ JßøÓ PshÔP 

(A) Village is the unit of rural society  
 FμP \‰Pzvß Ai¨£øh A»S Qμõ©[PÒ BS®   

(B) Women have full equality with men 

 FμP \‰PzvÀ ö£sPÒ BsPÐUS \©©õP |hzu¨£kQßÓÚº  

(C) Indian rural society is predominantly based on agriculture  
 C¢v¯ FμP \‰Pzvß ¤μuõÚ öuõÈÀ ÷ÁÍõsø© BS®   

(D) Each village has its own organisational setup, authority and 
sanction 

 JÆöÁõ¸ Qμõ©zvØS® uÛzxÁ©õÚ {ºÁõP Aø©¨¦, AvPõμ®, 
ö\¯À AÝ©vPøÍU öPõskÒÍx   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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111. Which of the following price is announced by the Government of
India ahead of the agricultural seasons every year? 
G¢u Âø»¯õÚx ÂøuUS® £¸Á® xÁ[S® •ß¦ C¢v¯ Aμ\õÀ 
AÔÂUP¨£kQÓx? 

(A) Procurement price (B) Issue price 

 öPõÒ•uÀ Âø»  ÁÇ[PÀ Âø» 

(C) Minimum support price (D) Market price 
 SøÓ¢u£m\ BuõμÂø»  \¢øu Âø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

112. National Agricultural Co-operative Marketing Federation promotes
trade as follows. 
÷u]¯ ÂÁ\õ¯ TmkÓÄ ÂØ£øÚ Cøn¯® ¤ßÁ¸©õÖ ÁºzuPzøu 
FUSÂUQßÓx. 

(A) Within the states  
 ©õ{»zvØSÒ   

(B) Among the states 

 ©õ{»[PÐUQøh÷¯   

(C) Foreign experts  
 öÁÎ|õmk HØÖ©v   

(D) Interstate and as well as foreign 
 ©õ{»[PÐUQøh°À ©ØÖ® öÁÎ|õkUS   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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113. __________ is an apex organization of marketing cooperatives in the
country at National level. 
TmkÓÄ ÂØ£øÚa \[P[PÎß C¢v¯ AÍÂ»õÚ uø»ø© {ÖÁÚ® 
–––––––––– BS® 

(A) TANFED  

 TANFED (hõßLö£m) 

(B) NAFED 

 NAFED (|õLö£m) 

(C) APEDA  

 APEDA (A÷£hõ) 

(D) AGMARKNET 
 AGMARKNET (AU©õºUö|m) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

114. The share of funding between Central and State Governments on
National Rural Employment Programme (NREP) is 
÷u]¯ FμP ÷Áø»Áõ´¨¦ vmhzvÀ ©zv¯ ©ØÖ® ©õ{» Aμ]ß {v 
£[Rk GÆÁÍÄ? 

(A) 50 : 50 (B) 40 : 60 

(C) 60 : 40 (D) 65 : 35 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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115. Agriculture Economics as, “an applied phase of Social Science of
economics in which attention is given to all aspects of problems
related to Agriculture” this definition was given by 
÷ÁÍõs ö£õ¸Íõuõμ® Gß£x, “ö£õ¸Íõuõμ® öuõhº£õÚ \‰P 
AÔÂ¯¼ß J¸ Pmh®, CvÀ ÂÁ\õ¯® öuõhº£õÚ ¤μa]øÚPÎß 
AøÚzx A®\[PÐUS® PÁÚ® ö\¾zu¨£kQÓx” Cøu TÔ¯Áº 

(A) Goodwin (B) Wallace 

 SmÂß  Áõ»ì 

(C) Jouzier (D) Prof. Hibbard 
 áú]¯º  ÷£μõ]›¯º. î¨£õºk 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

116. NABARD was established by the Union Govt. of India based on the
recommendation of which committee? 
|£õºm G¢u SÊÂß £›¢xøÓ°ß£i C¢v¯ JßÔ¯ Aμ\õ[PzuõÀ
{ÖÁ¨£mhx? 

(A) D. Sivaraman (B) C. Sivaraman 

 i. ]Áμõ©ß  ]. ]Áμõ©ß 

(C) B. Sivaraman (D) A. Sivaraman 
 ¤. ]Áμõ©ß  H. ]Áμõ©ß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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117. The Cash Liquidity Ratio of Banks is fixed by __________ in India.  
C¢v¯õÂÀ Á[QPÎÀ £n¦ÇUP ÂQu® (CLR) ¯õμõÀ 
{ºn°UP¨£kQÓx? 

(A) Reserve Bank of India (B) State Bank of India 

 C¢v¯ ›\ºÆ Á[Q  £õμu ì÷hm Á[Q 

(C) Central Government (D) State Governments 
 ©zv¯ Aμ_  ©õ{» Aμ_PÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

118. Which of the following is concerned with refinancing support to 
financial institution? 
Qμõª¯ \•uõ¯[PÐUS ©øÓ•P {v AÎUS® Á[Q Gx? 

(A) RBI (B) NABARD 

(C) SBI (D) IOB 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

119. Where was Ryotwari System first introduced? 
•uß •u¼À μ¯zÁõ› •øÓ G[S AÔ•P¨£kzu£mhx? 

(A) Maharashtra Province (B) Bengal Province 

 ©íõμõèiμõ ©õPõn®  ö£[PõÀ ©õPõn® 

(C) Madras Province (D) Delhi Province 
 ©uμõì ©õPõn®  öhÀ¼ ©õPõn® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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120. Bonded Labour System (Abolition) Act enacted in __________. 
öPõzuiø© (A) ¤øn¯U T¼ JÈ¨¦UPõÚ \mh® E¸ÁõUP¨£mh Bsk

(A) 1994 (B) 1987 

(C) 1976 (D) 1991 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

121. The process of heating of food products above 100°C so as to enhance 
the shelf-life is called as __________. 
EnÄ ö£õ¸mPÎß S¸®¦ Põ»zøu AvP¨£kzxÁuØS AuøÚ 100°C 
÷©À `hõUS® •øÓ 

(A) Pasteurization (B) Sterilization 

 £õì_øμ÷\\ß  ìöh›ø»÷\\ß 

(C) Blanching (D) Parboiling 
 ¨Íõg][  £õº£õ´¼[ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

122. Species that grow in strong light are termed as __________ and
–––––––––– require how much of percentage of the total sunlight. 
¤μPõ\©õÚ JÎ°À ÁõÊ£øÁ¯õÚ –––––––––– E°›PÐUS –––––––––– % 
`›¯ JÎ ÷uøÁ¨£kQÓx. 

(A) Heliophilous and 1% (B) Heliophobous and 3% 

 ï¼÷¯õ¤»ì – 1%  ï¼÷¯õ÷£õ£ì – 3% 

(C) Heliophilous and 6% (D) Heliophobous and 9% 
 ï¼÷¯õ¤»ì – 6%  ï¼÷¯õ÷£õ£ì – 9% 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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123. In biosphere reserve, core zone means 
E°ºU÷PõÍU Põ¨£P[PÎß ø©¯(Core) £õP[PÎÀ 

(A) No human activity is allowed  
 ©Ûu |hÁiUøPPÒ uøh ö\´¯¨£mhøÁ    

(B) Limited human activity is permitted 

 SøÓ¢u ©Ûu |hÁiUøPUS AÝ©v Esk   

(C) Human activity is allowed but ecology is not permitted to be 
disturbed  

 _ØÖa`Ç¾US Cøhg\À CÀ»õu ©Ûu |hÁiUøPUS AÝ©v 
Esk   

(D) Degraded area for restoration to near natural form 
 AÈ¢u {ø»°¾ÒÍ {»zøu C¯ØøP uμzvØS ©õØÓ |hÁiUøP  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

124. Which of the following is not a Character of Chlorofluorocarbons
(CFC) which is capable of destroying 3O  molecule? 
¤ßÁ¸ÁÚÁØÔÀ 3O  ‰»UTÖPøÍ AÈUS® vÓß öPõsh 
S÷Íõ÷μõL¨Ð÷μõ Põº£ßPÎß (].GL¨.]) ußø© GxÁÀ»? 

(A) Not toxic (B) Not inflammable 

 |a_ CÀø»  G›¯UTi¯x AÀ» 

(C) Stable nature (D) Destroys plant cells 
 {ø»¯õÚ C¯À¦  uõÁμ ö\ÀPøÍ AÈUQÓx  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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125. Match the following  : 
ö£õ¸zxP : 
(a) La Nina 1. 1997 
 »õ {Úõ  1997 
(b) Kyoto Protocol 2. 2CO  
 Q¯õm÷hõ ö|Ô•øÓ  P›¯ ª» Áõ² 
(c) GHG 3. UV radiation  
 £_ø© SiÀ Áõ²  ¦Ó Fuõ Pvº Ãa_ 
(d) Ozone depletion 4. Sea current  
 K÷\õß SøÓ¨¦  PhÀ }÷μõmh®  

 (a) (b) (c) (d) 
(A)  4  1  2  3    
(B)  1  2  3  4     
(C)  2  3  4  1    
(D)  3  4  1  2    
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

126. The basic component of the smog may be __________. 
¦øP¨£Û ‰mhzvß Ai¨£øh TÖ ö£õ¸mPÒ  

(A) 3O  (B) 3O  and PAN 

 3O   3O  ©ØÖ® PAN 

(C) PAN (D) PPN and PBN 
 PAN  PPN ©ØÖ® PBN 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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127. The efficiency of double pot improved chula is 
÷©®£kzu¨£mh Cμmøh Ak¨¤ß ö\¯ÀvÓß 

(A) 10 to 15% (B) 25 to 27% 

 10 •uÀ 15%  25 •uÀ 27% 

(C) 30 to 47% (D) 48 to 56% 
 30 •uÀ 47%  48 •uÀ 56% 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

128. Solid char consists __________% carbon. 
vhUP›°À EÒÍ Põº£Ûß AÍÄ _©õº –––––––––– \uÃu©õS®  

(A) 55 – 65 (B) 65 – 75 

 55 •uÀ 65  65 •uÀ 75 

(C) 75 – 85 (D) 85 – 95 
 75 •uÀ 85  85 •uÀ 95 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

129. The plant used for producing Bio diesel was 
£÷¯õj\ø» E¸ÁõUP £¯ß£kzu¨£mh uõÁμ® Gx? 

(A) Jatropha (B) Neem 

 öám÷μõ£õ  ÷Á®¦ 

(C) Tamarind (D) Prosopis 
 ¦Î  ^ø©U P¸÷ÁÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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130. Which one of the following is a renewable energy source? 
RÌPshÁØÔÀ Gx ¦x¨¤UP ÁÀ» BØÓÀ \Uv ÁøPø¯ \õº¢ux? 

(A) Wind energy (B) Fossil fuel 

 PõØÖ \Uv  ¦øu £iÁ G›©® 

(C) Kerosene (D) Mineral oil 
 ©sönsön´  PÛ© Gsön´  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

131. Name the gas generated from biomass using gasification process. 
uõÁμ vhU PÈÄPøÍ Áõ²ÁõUPÀ •øÓ°À EØ£zv ö\´²® Áõ²Âß 
ö£¯º? 

(A) Producer gas (B) Biogas 

 ¦öμõi³\º G›Áõ²  \õn G›Áõ² 

(C) Natural gas (D) Gobar gas 
 C¯ØøP Áõ²  ÷Põ£õº Áõ² 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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132. The optimum moisture content for storage of groundnut is
__________. 
{»UPhø»ø¯ ÷\ª¨£uØS EP¢u Dμ¨£u® –––––––––– BS®. 

(A) 8% Wb  

 8% Wb (Dμ¨£u Ai¨£øh°À)   

(B) 10% Wb  
 10% Wb (Dμ¨£u Ai¨£øh°À)  

(C) 12% Wb  
 12% Wb(Dμ¨£u Ai¨£øh°À)    

(D) 14% Wb  
 14% Wb(Dμ¨£u Ai¨£øh°À)  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

133. The chemical used for moisture content determination is 
Dμ¨£u® PshÔ¯ £¯ß£kzu¨£k® Cμ\õ¯Ú® 

(A) Calcium chloride (B) Magnesium chloride 

 _snP S÷Íõøμm  ö©UÜ]¯® S÷Íõøμm 

(C) Sodium chloride (D) Potassium chloride 
 ÷\õi¯® S÷Íõøμm  ö£õmhõ]¯® S÷Íõøμm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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134. Wet milling of pulses uses __________ for conditioning of pulses. 
£¸¨¦ ÁøP°øÚ Dμ©õÚ •øÓ°À AøμUP £¯ß£k® ö£õ¸Ò Gx? 

(A) Hot water (B) Mud 

 öÁ¢}º  ÷\Ö 

(C) Cow dung (D) Oil 
 ©õmk \õÚ®  Gsön´ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

135. Parboiling of paddy has any one of the following steps 
÷ÁPøÁUP¨£mh A›] E¸ÁõUSÁvÀ RÌUPshÁØÖÒ H÷uÝ® J¸ 
£i{ø»PøÍ öPõskÒÍx 

(A) Drying-Grading-Steaming  

 E»ºzuÀ&uμ®¤›zuÀ&÷ÁPøÁzuÀ   

(B) Grading-Drying-Steaming  
 uμ®¤›zuÀ&E»ºzuÀ&÷ÁPøÁzuÀ 

(C) Steaming-Drying-Soaking  
 ÷ÁPøÁzuÀ&E»ºzuÀ&FÓøÁzuÀ   

(D) Soaking-Steaming-Drying  
 FÓøÁzuÀ&÷ÁPøÁzuÀ&E»ºzuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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136. If the moisture content of grain on wet basis is 25%, then what
should be moisture content on dry basis? 
Dμ¨£u® 25% (W.B) C¸US® uõÛ¯zvß Dμ¨£u® (D.B) GÆÁÍÄ 
C¸US®? 

W.B – Dμzvß Ai¨£øh°À 

D.B – E»º Ai¨£øh°À 

(A) 20% (B) 22% 

 20 \uÂQu®  22 \uÂQu® 

(C) 33% (D) 30% 
 33 \uÂQu®  30 \uÂQu® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

137. The devices attached to the tractor is lifted or dropped through
__________. 
iμõUh¸hß CønUP¨£mkÒÍ P¸ÂPøÍ yUP÷Áõ AÀ»x CÓUP÷Áõ 
Aø©¨¦ £¯ß£kzu¨£kQÓx. 

(A) Transmission (B) Engine 

 iμõßìªåß  Gg]ß 

(C) Power Take Off (P.T.O.) (D) Hydraulic 
 ¤iK (P.T.O.)  øímμõ¼U 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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138. __________ is an operation done by blowing a current of air through
grain in order to remove the chaff. 
PõØÔøÚ ö\¾zv uõÛ¯zv¼¸¢x £uøμ }US® •øÓUS –––––––––– GßÖ 
ö£¯º. 

(A) Threshing (B) Winnowing 

 PvμizuÀ  yØÖuÀ 

(C) Sorting (D) Grading 
 Á›ø\¨£kzxuÀ  uμ®¤›zuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

139. An average man can develop maximum power of about __________
hp for doing farm work. 
J¸ \μõ\› ©Ûuß £søn ÷Áø»PøÍa ö\´ÁuØS AvP£m\©õP 
–––––––––– öía¤ (Svøμ \Uv) BØÓø» E¸ÁõUP •i²®. 
(A) 0.1 (B) 0.5 
(C) 1.0 (D) 2.0 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

140. What is the Tilt angle of a disc plough? 
\miUP»¨ø£°ß \õ´ÄU ÷Põn® GÆÁÍÄ? 

(A) 42° to 45° (B) 15° to 25° 

 42° C¸¢x 45°  15° C¸¢x 25° 

(C) 12° to 20° (D) 35° to 40° 
 12° C¸¢x 20°  35° C¸¢x 40° 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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141. Restricted feeding programme is followed for 
Pmk¨£kzu¨£mh wÁÚ •øÓ _________ ÁøP ÷PõÈ ÁÍº¨¤À 
¤ß£ØÓ¨£kQÓx. 

(A) Broilers (B) Growers 

 PÔU÷PõÈ  ÁÍº£¸Á® 

(C) Chicks (D) Desi birds 
 Sg_  EÒ|õmk CÚ÷PõÈ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

142. What is the minimum floor space required for broiler is deep litter
system? 
BÌ TÍ Aø©¨¤À ¤μõ´»º ÷PõÈUS SøÓ¢u£m\ ÷uøÁ¯õÚ Ch® 
GßÚ? 

(A) 2.1 sq.ft. (B) 3.1 sq.ft. 

 2.1 \xμ Ai  3.1 \xμ Ai 

(C) 1.2 sq.ft. (D) 2.8 sq.ft. 
 1.2 \xμ Ai  2.8 \xμ Ai 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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143. Match List I (Vitamin) with List II (Disease) and select the correct
answer using the codes given below the List : 

£mi¯À I  (øÁmhªß) ø¯ £mi¯À II (÷|õ´) Ehß öuõhº¦£kzv 
\›¯õÚ £vø» £mi¯¾US R÷Ç öPõkUP¨£mkÒÍ SÔ±møh öPõsk
÷uº¢öukUPÄ® : 
 List I  List II 
 £mi¯À I    £mi¯À II 
(a) Vitamin D 1. Curled toe paralysis  
 øÁmhªß D  _¸sh |P •hUP® 
(b) Vitamin E 2. Osteoporosis  
 øÁmhªß E  Bìi÷¯õ÷£õ÷μõ]ì 
(c) Riboflavin 3. Star gazing  
 øμ÷£õ¤÷ÍÂß  Áõ÷ÚõUS |m\zvμ £õºøÁ 
(d) Thiamine 4. Encephalomalacia  
 øu¯ªß  Gßö\£÷»õ©»õ]¯õ 

 (a) (b) (c) (d) 
(A)  2  1  4  3    
(B)  4  1  3  2     
(C)  2  3  4  1    
(D)  2  4  1  3    
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

144. Which class does white leghorn variety belong to? 
öÁõ°m ö»Põß CÚ® G¢u ÁøPø¯a ÷\º¢ux? 

(A) England (B) Mediterranean 

 C[Q»õ¢x  ©zv¯ uøμUPhÀ 

(C) American (D) Asiatic 
 Aö©›UPõ  B]¯õ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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145. Clostridium perfringens cause __________ in sheep. 
QÍõìi›i¯® £º¤›g\ßì Q¸ª¯õÚx ö\®©Ô¯õkPÎÀ _________
÷|õ°øÚ EshõUQÓx. 

(A) Blue tongue   

 }» |õUS ÷|õ´ (Blue tongue)   

(B) Sheep pox 

 Bmh®ø© (Sheep pox) 

(C) Foot and mouth disease   
 ÷Põ©õ› (FMD)  
(D) Enterotoxaemia 
 xÒÐ©õ›÷|õ´ (Enterotoxaemia) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

146. Fine wool breed of exotic sheep is  
ö©À¼¯ P®£Í ÁøP öÁÎ|õmk ö\®©Ô BmiÚ® _________ BS®. 

(A) Merino (B) Marwari 

 ö©›÷Úõ  ©õºÁõ› 

(C) Deccani (D) Tiruchy Black 
 öhUPÛ  v¸a] P¸¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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147. __________ is the zoological name of sheep. 
ö\®©Ô¯õkPÎß Â»[QÚ¨ ö£¯º _________ BS®. 

(A) Capra hircus (B) Bos taurus 

 ÷P¨μõ îºPì  £õì hõμì 

(C) Bos indicus (D) Ovis aries 
 £õì CsiPì  KÂì H›ì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

148. Which of the following is not used as disinfectant in animal house?  
¤ßÁ¸ÁÚÁØÔÀ Gx Q¸ª|õ]Û¯õP öPõmhøP°À 
£¯ß£kzu¨£kÁvÀø»? 

(A) Bleaching powder (30%) (B) Washing soda (4%) 

 ¤Ïa][ yÒ 30%  \»øÁ ÷\õhõ 4% 

(C) Phenol (1-2%) (D) Isopropyl alcohol (1%) 
 ¥ÚõÀ 1-2%  I÷\õ¦÷μõø£À BÀPíõÀ 1%

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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149. “Milk Fever” is a disease of cattle caused due to 
“£õÀ Põ´a\À” GßÓ ÷|õ´ ©õkPÐUS Á¸ÁuØPõÚ Põμn® 

(A) Hypocalcaemia  

 CμzuzvÀ PõÀ]¯® AÍÄ SøÓuÀ   

(B) Acetonemia 
 A]÷hßª¯õ AÍÄ AvP©õuÀ 

(C) Mastitis  
 ©i÷|õ´   

(D) Brucellosis 
 ¦¸ö\À»õ ÷|õ´ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

150. Regarding the disinfectants all statements are correct except 
Q¸ª |õ]Û öuõhº¦øh¯ RÌPsh ÁõUQ¯[PÎÀ GøÁ JßøÓ uÂμ 
AøÚzx® \› 

(A) Chlorine is most effective at neutral pH  
 |k{ø»¯õÚ Aª»z ußø©°À S÷Íõ›ß AvP ö\¯ÀvÓøÚ 

öÁÎ¨£kzx®   

(B) 5% Formalin is good disinfectants  

 5 \uÂQu £õº©¼ß |À» Q¸ª |õ]Û   

(C) Acidification of water increases bactericidal effect of 
quaternary ammonium compounds   

 SÁõmhºÚ› A®÷©õÛ¯® P»øÁPÎß ~sQ¸ªPøÍ AÈUS® 
vÓß Aª»z ußø©²ÒÍ usp›À AvP›US®   

(D) Carbolic acid is used for disinfection of metallic objects and 
cloths 

 Põº£õ¼U Aª»® E÷»õP¨ ö£õ¸ÒPÒ ©ØÖ® xoPøÍ Q¸ª }UP 
£¯ß£kzu¨£kQÓx   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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151. Average daily water requirement of a cow for all purposes is
__________ litres. 
J¸ £_ÂØS Auß AßÓõh AøÚzx ÷uøÁPøÍ²® §ºzv ö\´ÁuØS 
÷uøÁ¨£k® vÚ\› usp›ß AÍÄ _________ ¼mhº BS®. 

(A) 100 – 110 (B) 150 – 160 

(C) 180 – 190 (D) 200 – 210 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

152. What is the major protein present in cow’s milk? 
£õ¼À C¸US® •UQ¯ ¦μu® Gx? 

(A) Carotene (B) Albumin 

 P÷μõmiß  AÀ¦ªß 

(C) Casein (D) Flavoprotein 
 ÷P]ß  ¤Í÷Áõ¦÷μõmiß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

153. In dairy cows, it is advisable to complete the milking process with in
__________ minutes. 
PÓøÁ ©õkPÎÀ _________ {ªh[PÎÀ £õÀ PÓøÁø¯ •Êø©¯õP 
•izxÂkÁx AÔÁõº¢u ö\¯»õS®. 

(A) 5 – 7 (B) 12 – 14 

(C) 15 – 17 (D) 19 – 21 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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154. Colostrum feeding should be given to calf within the first __________
hours of life is essential. 
PßÖSmiUS, PßÖ ¤Ó¢uÄhß _________ ©o ÷|μzvØSÒ ^®£õÀ uμ¨£h 
÷Ásk®. 

(A) 10 hours (B) 1 hour 

 10  ©o÷|μ®  1 ©o÷|μ® 

(C) 5 hours (D) 12 hours 
 5 ©o÷|μ®  12 ©o÷|μ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

155. While constructing cattle shed, the breadth of the buildings should
be restricted to __________ feet. 
©õmkz öPõmhøPPÎß AP»® _________ AiPÐUS ªPõ©À £õºzxU 
öPõÒÍ ÷Ásk®. 

(A) 15 – 20 (B) 25 – 30 

(C) 35 – 40 (D) 45 – 50 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

156. For calves, the quantity of colostrum to be fed in __________th of it’s 
body weight. 
PßÖPÐUS Auß EhÀ Gøh°À _________ £[S ^®£õÀ öPõkUP¨£k®. 

(A) 
10
1

 (B) 
15
1

 

(C) 
20
1

 (D) 
25
1

 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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157. The typical body colour of Jersey cattle is 
öáº] CÚ ©õmiß uÛzxÁ EhÀ {Óö©ßÚ? 

(A) Danish Red  
 ÷hÛì ]P¨¦   

(B) Red 

 ]P¨¦   

(C) Fawn with or without white markings  
 ]Á¢u ©õÛÓ® öÁÒøÍ¨ ¦ÒÎ²hß AÀ»x CÀ»õ©À   

(D) Blade with white patches 
 P¸¨¦ ©ØÖ® öÁÒøÍ vmkPÒ   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

158. One of the following is not an advantage of artificial insemination 
RÌPshÁØÔÀ J¸ Põμo ö\¯ØøP •øÓ P¸Åmh¼ß ]Ó¨£®\® BPõx 

(A) Removal of geographical restriction  
 ¦Â°¯À uøh°øÚ uõshÁÀ»x   

(B) Acceleration of genetic improvement  
 ©μ¦¨£s¦ •ß÷ÚØÓzvøÚ x›u¨£kzx®   

(C) Increase risk of injury  
 AvP Põ¯® EshõÁuØPõÚ Áõ´¨¦   

(D) Aid in disease control 
 ÷|õ´ £μÁø» ukzuÀ   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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159. The hometract of Murrah buffalo is  
•ºμõ CÚ G¸ø© ©õkPÎß §ºÃP® _________ BS®. 

(A) Haryana (B) Gujarat 

 í›¯õÚõ  Sáμõz 

(C) Andhra Pradesh (D) Tamil Nadu 
 B¢vμ ¤μ÷u\®  uªÌ|õk 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

160. The male parent is called as  
ö£Ø÷ÓõºPÎÀ Bs _________ GÚ AøÇUP¨£kQÓx. 

(A) Dam (B) Sire 

 ÷h®  ø\¯º 

(C) Doe (D) Ewe 
 ÷hõ  DÆ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

161. The term heterosis was first used by 
P»¨¤Ú Ã›¯® (CuμzxÁ®) GßÓ •øÓø¯ •u¼À AÔ•P¨£kzv¯Áº 
¯õº? 

(A) East (B) Jones 

 Dìm  ÷áõßì 

(C) Powers (D) Shull 
 £Áºì  åÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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162. Consequence of self pollination in crops is 
£°ºPÎÀ uß ©Pμ¢u ÷\ºUøP HØ£kzx® ÂøÍÄ 

(A) Genes become homozygous  
 ©μ£qUPÒ \©~Pzuøh²®   

(B) Population become homogeneous 

 £°º Tmh® JßÖ÷£õÀ Põn¨£k®   

(C) Both (A) and (B)  
 (A) ©ØÖ® (B) Cμsk®   

(D) Population become heterozygous 
 £°º Tmh® P»¨¦¨ £s£P©õ´ Põn¨£k®   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

163. The variety which is considered to be the first source of dwarfing 
gene in rice is __________. 
ö|À¼À Smøh¯õÚ ÁÍº¨¦UPõÚ ©μ£Ý G¢u CμPzv¼¸¢x •u¼À 
ö£Ó¨£mhx? 

(A) IR 20 (B) TN 1 

 I.Bº. 20  i.Gß. 1 

(C) Dee-Geo-Woo-Gen (D) IR 8 
 j&ã÷¯õ&Å&öáß  I.Bº. 8 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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164. The first artificial hybrid was produced by 
ö\¯ØøP Ã›¯ Jmøh •u¼À E¸ÁõUQ¯Áº ¯õº? 

(A) Joseph Koelreuter (B) Knight 

 ÷áõ\¨ PõÀ›³mhº  ø|m 

(C) Mendel (D) Thomas Fairchild 
 ö©ßöhÀ  uõ©ì ö£¯º\°Àm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

165. Emasculation of the hybrid cotton should be done between 
__________ hours. 
£¸zv Ã›¯ Jmk Âøu EØ£zv°À G©õìS÷»\ß (©Pμ¢zuõÒ }UP®) 
ö\´¯ ÷Ási¯ ÷|μ® 

(A) 10.00 AM to 1.00 PM (B) 6.00 AM to 12.00 PM 

 Põø» 10 - 1.00 ©o  Põø» 6 - 12.00 ©o 

(C) 2.00 PM to 6.00 PM (D) 8.00 AM to 10.00 AM 
 ©õø» 2 - 6.00  ©o  Põø» 8 -  10.00 ©o 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

166. Emasculation is the process of removal of __________ from flower. 
Bsø© }UP® Gß£x §Â¼¸¢x __________ APØÖuÀ 

(A) Anthers and Stamens (B) Stigma and Style 

 ©Pμ¢u ÷P\μ®, ©Pμ¢u¨ø£ø¯  `À•iø¯, `»Pzøu 

(C) Corolla (D) Calyx 
 AÀ¼ Ámhzøu  ¦À¼ Ámhzøu 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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167. Wind pollination is termed as __________. 
PõØÖ ‰»® HØ£k® ©Pμ¢ua ÷\ºUøP GÆÁõÖ AøÇUP¨£kQÓx? 

(A) Anemophily 
 PõØÔß ‰»® A¯À ©Pμ¢u ÷\ºUøP  

(B) Hydrophily 

 }º ©Pμ¢u ÷\ºUøP   

(C) Zoophily 
 Â»[QÚ® ‰»® A¯À ©Pμ¢u ÷\ºUøP  

(D) Entomophily 
 §a] ÁÈ A¯À ©Pμ¢u ÷\ºUøP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

168. Sugarcane Breeding Institute is located in 
P¸®¦ CÚ¨ö£¸UP {ø»¯® Aø©¢xÒÍ Ch® 

(A) Coimbatore (B) Salem 

 ÷Põ¯®¦zyº  ÷\»® 

(C) Madurai (D) Tanjore 
 ©xøμ  ug\õÅº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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169. Gigantism is more obvious in 
÷£¸¸Äzußø© RÌPõq® G¢u ÁøPPÎÀ AvP® öÁÎ¨£kQÓx? 

(A) Diploid 
 C¸©¯ uõÁμ[PÒ  

(B) Triploids 

 ‰ßÖ ©¯ uõÁμ[PÒ 

(C) Autotetraploids 
 uß |õßS v› ©¯ uõÁμ[PÒ  

(D) Allotetraploids 
 ÷ÁØÖ |õßS v›©¯ uõÁμ[PÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

170. Eradication of fungal spores established within the seed coat or in
more deep seated tissues of seed in __________. 
Âøu EøÓ, Âøu°ÝÒÍ v_UPÎÀ £μÂ²ÒÍ §gø\ ì÷£õºPøÍ 
AÈUS® Âu® 

(A) seed infection (B) seed disinfestation 

 Âøuz öuõØÖ  ÂøuU Q¸ª }UP® 

(C) seed infestations (D) seed disinfection 
 ÂøuU Q¸ªPÒ  Âøuz öuõØÖ }UP® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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171. Which breeding method is used to transfer of disease resistance in
plants? 
RÌUPshÁØÖÒ ÷|õ´ Gvº¨¦z vÓøÚ £°ºPÎÀ öPõskÁμ G¢u •øÓ 
£¯ß£kQÓx? 

(A) Mass selection 
 Tmkz ÷uºÄ  

(B) Pure line selection 

 y¯Á›ø\z ÷uºÄ 

(C) Backcross method 
 ¤ØP»¨¦z ÷uºÄ  

(D) Pedigree method 
 ÷£Ö Á›ø\ ÷uºÄ   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

172. Find out the odd one in the given list of seed standards in seed 
production 
RÌPshÁØÖÒ Âøu EØ£zv°À Âøuz uμ® \õμõu JßøÓ PshÔ¯Ä®. 

(A) Pure seed (B) Inert matter 

 y´ø© ÂøuPÒ  A[PP ö£õ¸mPÒ 

(C) Off-types (D) Other crop seeds 
 ©õÖ£mh ÁøPPÒ  ¤Ó £°º ÂøuPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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173. In development of hybrids, ‘A’ line indicates __________. 
Ã›¯ Jmk CμP E¸ÁõUPzvß ÷£õx, ‘H’ Á›ø\ Gß£x GuøÚU SÔUS®.

(A) Female line (B) Male line 

 ö£s Á›ø\  Bs Á›ø\ 

(C) Restorer line (D) Maintainer line 
 {ø» {Özx® Á›ø\  uUP øÁUS® Á›ø\ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

174. Process of removal of tassel in maize hybrid seed production is called
as __________. 
©UPõa÷\õÍ Ã›¯ Âøu EØ£zvUS Bs §©g\› (tassel) APØÖÁuØS 
GßÚ ö£¯º? 

(A) Detasseling (B) Selfing 

 j÷h\¼[   ö\À¤[ (Selfing) 

(C) Dusting (D) Rogueing 
 hìi[  ÷μõQ[ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

175. Isolation requirement for paddy varietal seed production field is
__________. 
ö|À CμP Âøu EØ£zvUPõÚ £°º Â»S yμ® GßÚ? 

(A) 100 metre (B) 3 metre 

 100 «mhº  3 «mhº 

(C) 50 metre (D) 500 metre 
 50 «mhº  500 «mhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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176. Seed multiplication ratio for Groundnut __________. 
{»UPhø»°ß Âøu ö£¸US ÂQu® 

(A) 1 : 10 (B) 1 : 8 

(C) 1 : 50 (D) 1 : 4 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

177. Coating of seeds with certain substances to increase to desired size
is termed as __________. 
ÂøuPøÍ ]» ö£õ¸mPøÍU öPõsk Auß AÍøÁ¨ ö£›x£kzx® 
Âøu ÷|ºzv (A) EzvUS¨ ö£¯º 

(A) Seed colouring (B) Seed fortification 

 Âøu {Ó÷©ØÖuÀ  Âøu FÓøÁzuÀ 

(C) Seed priming  (D) Seed pelleting 
 Âøu Fmh÷©ØÖuÀ  Âøu •»õ® §_uÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

178. Which of the following is necessary for respiration in plants? 
RÌUPshÁØÖÒ uõÁμ[PÎß _Áõ]zu¾US AÁ]¯©õP ÷uøÁ¨£kÁx 
Gx? 

(A) Carbon dioxide (B) Oxygen 

 P›¯ªÍ Áõ²  BU]áß 

(C) Chlorophyll (D) Light 
 £aø\¯®  öÁÎa\® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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179. Which of the following is the typical example for C4 plant? 
C4 uõÁμÁøPUS RÌUPsh £°ºPÎÀ \›¯õÚ Euõμn® 

(A) Maize (B) Red gram 

 ©UPõ÷\õÍ®  xÁøμ 

(C) Mango (D) Cotton 
 ©õ  £¸zv 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

180. Oil is extracted from which part of the coconut tree? 
öußøÚ°ß G¢u £Sv°¼¸¢x Gsön´ GkUP¨£kQÓx? 

(A) Fruit (B) Mesocarp 

 £Ç®  PÛ |kEøÓ 

(C) Endocarp (D) Endosperm 
 EÒ÷Íõk  P¸Åmh uø\ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

181. The land capability classification, restricted to recreation and wild
life is 
ö£õÊx÷£õUS ©ØÖ® ÁÚÂ»[SPÒ ¦P¼hzvØ÷PØÓ  {»uPÁø©¨¦ 
ÁøP£õk ¯õx? 

(A) II (B) VI 

(C) VII (D) VIII 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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182. __________ nutrient play a major role in protecting the crop from
pest and disease and reduces lodging. 
£°ºPÒ §a], ÷|õ´ uõUPõ©À ©ØÖ® ©soÀ \õ¯õ©À C¸¨£uØS 
£¯ß£k® •UQ¯©õÚ \zx –––––––––– BS®. 

(A) Ca (B) Na 

 PõÀ]¯®  ÷\õi¯® 

(C) K (D) Mg 
 ö£õmhõ]¯®  ©UÜ]¯® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

183. Manganese deficiency causes __________ disease in sugarcane. 
©õ[PÛ_ £ØÓõSøÓ°ÚõÀ P¸®¤À ÷uõßÖ® ÷|õ´ AÔSÔ ––––––––––. 

(A) Grass tetany (B) Grey speck 

 Qμõì öhhõÛ  Q÷μìö£U 

(C) Little leaf (D) Pahala blight 
 ]Özu Cø»PÒ  £Põ»õ ¤øÍm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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184. Micronutrients are required to crops in 
~srmh \zxUPÒ £°ºPÐUS RÌUPshÁõÖ ÷uøÁ¨£kQßÓx 

(A) smaller quantities but they are essential  
 ]Ô¯ AÍÂÀ BÚõÀ {a\¯©õP ÷uøÁ¨£kQßÓx   

(B) larger quantities but they are not essential 

 ö£›¯ AÍÂÀ BÚõÀ {a\¯©õP ÷uøÁ¨£hÂÀø»   

(C) smaller quantities but they are not essential  
 ]Ô¯ AÍÂÀ BÚõÀ {a\¯©õP ÷uøÁ¨£hÂÀø»   

(D) larger quantities but they are essential 
 ö£›¯ AÍÂÀ BÚõÀ {a\¯©õP ÷uøÁ¨£kQßÓx   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

185. Amide form of nitrogeneous fertilizer is __________. 
uøÇ\zx Eμ[PÎÀ G¢u Eμ® Aø©k ÁøPø¯ \õº¢ux 

(A) Ammonium sulphate (B) Sodium nitrate 

 A÷©õÛ¯® \À÷£m  ÷\õi¯® ø|m÷μm 

(C) Urea (D) Ammonium Chloride 
 ³›¯õ  A÷©õÛ¯® S÷Íõøμk 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

186. Sunflower pot culture technique is used to assess the nutrient status
of which element? 
`›¯Põ¢v öuõmi öuõÈÀ~m£® ©soÀ EÒÍ G¢u \zøu {ºn¯® 
ö\´QÓx. 

(A) Ca (B) Mn 

(C) Fe (D) B 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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187. Match the following  : 
ö£õ¸zxP : 
(a) Khaira disease of rice  1. Copper  
 ö|À¼À øPμõ ÷|õ´    uõªμ® 
(b) Die back of citrus   2. Calcium 
 G¾ªaø\°À ~ÛUP¸PÀ   _snõ®¦\zx 
(c) Whiptail of cauliflower  3. Zinc  
 Põ¼¤ÍÁ›À Â¨øhÀ   xzu|õP® 
(d) Blossom end rot of tomato 4. Molybdenum  
 §Põ®¦ ~Û A•PÀ ÷|õ´ uUPõÎ  ©õ¼¨iÚ® 

 (a) (b) (c) (d) 
(A)  2  3  1  4    
(B)  3  1  4  2     
(C)  4  2  1  3    
(D)  1  4  2  3    
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

188. The organic matter content of most of soils of India is in the range of
C¢v¯ ©soÀ P›© ö£õ¸Îß AÍÄ 

(A) 1 – 2% (B) 2 – 3% 

(C) 3 – 4% (D) 4 – 5% 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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189. Irrigation water having SAR of < 10 is called as  
£õ\Ú}›À ÷\õi¯® EÔg_uÀ ÂQu® < 10 C¸¢uõÀ AuøÚ G¨£i 
AøÇ¨£º 

(A) Medium sodium hazard (B) High sodium hazard 

 ªu©õÚ ÷\õi¯® B£zx  AvP©õP ÷\õi¯® B£zx 

(C) Very high sodium hazard (D) Low sodium hazard 
 ªP AvP©õP ÷\õi¯® B£zx  SøÓ¢u ÷\õi¯® B£zx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

190. Lime requirement for Acid soil reclamation, was given by  
©soß Aª»zußø©ø¯ \› ö\´ÁuØS ÷uøÁ¯õÚ _snõ®¤ß 
AÍøÁ {ºn°zuÁº ¯õº? 

(A) Shoe maker (B) Schofield 

 åú÷©UPº  ì÷PõL¥Àm 

(C) Sokonov (D) Schoonover 
 ÷\õ÷Põ÷ÚõÆ  ç÷ÚõÁº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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191. The permissible level of Residual Sodium Carbonate in irrigation
water is __________. 
£õ\Ú }›À £›¢xøμUP¨£mh Gg]¯ ÷\õi¯® Põº£÷Úmiß AÍÄ 
–––––––––– C¸UP ÷Ásk®. 

(A) < 1.25 me/Lit  

 < 1.25 ªÀ¼ CUS÷Á»sm/¼mhº   

(B) 2.5 me/Lit  
 2.5 ªÀ¼ CUS÷Á»sm/¼mhº  

(C) > 2.5 me/Lit  
 > 2.5 ªÀ¼ CUS÷Á»sm/¼mhº    

(D) 3 me/Lit  
 3 ªÀ¼ CUS÷Á»sm/¼mhº   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

192. Physiological drought is due to following stress in soil 
£°º ÂøÚ°¯À ÁÓm]¯õÚx ¤ßÁ¸® G¢u AÇzu PõμnzuõÀ ©soÀ 
HØ£kQßÓx? 

(A) Acidity (B) Alkalinity 

 Aª»zußø©  Põμzußø© 

(C) Water deficit (D) Salinity 
 uspº £ØÓõUSøÓ  E¨¦zußø© 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



   431 – AGRICULTURE 
  [Turn over 

85

193. Aluminium toxicity is high in __________ soil. 
A¾ªÛ¯ |a_zußø© G¢u ©soÀ AvP©õP Põn¨£k®. 

(A) Alkali soil (B) Saline soil 

 PÍº ©s  EÁº ©s 

(C) Acid soil (D) Submerged soil 
 Aª» ©s  •ÌQ¯ |ßö\´ ©s 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

194. Which of the following statement with regard to black soil is wrong?
P›\À ©søn £ØÔ¯ RÌPsh TØÖPÎÀ Gx uÁÓõÚx? 

(i) Black soil exhibit characteristic swell-shrink property. 
 P›\À ©sPÒ _¸[Q Â›²® ußø© öPõshøÁ 

(ii) Highly clayey with clay content ranging from 30-60%. 

 AvP PÎzxPÒPÒ (30-60%) öPõsk PÎ©s ÁøPø¯ \õº¢uuõP 
C¸US® 

(iii) Have low cation exchange capacity. 
 ÷|ºªß÷ÚØÓ® ö£ØÓ A¯ÛPøÍ QμQUS® ußø© SøÓÁõP 

C¸US® 

(iv) Have high bulk density 
 £¸© Ahºzv AvP©õP C¸US® 

(A) (i) (B) (iii) 

(C) (ii) (D) (iv) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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195. Which of the following statements is correct with regard to soil air? 
©s PõØøÓ £ØÔ¯ RÌPsh TØÖUPÎÀ GøÁ \›¯õÚøÁ? 

(1) Carbon-di-oxide content of soil air is 0.25%. 

 ©sPõØÔÀ P›¯ª» Áõ²Âß PÚ AÍÄ 0.25% 

(2) Carbon-di-oxide content of soil air is several times lower than 
atmospheric air. 

 ©so¾ÒÍ P›¯ª» Áõ²Âß AÍÄ ÁÎ©sh»zøuÂh SøÓÁõP 
EÒÍx. 

(3) Nitrogen content of soil air is 79.1%. 

 ©s PõØÔÀ ø|mμáÛß AÍÄ 79.1% 

(4) Nitrogen content of soil air is similar to that of atmospheric 
air. 

 ©so¾ÒÍ PõØÔÀ ø|mμ\Ûß AÍÄ ÁÎ©sh»zøu ÷£õ»÷Á 
EÒÍx 

(A) (1), (3), (4) is correct (2) is wrong  
 (1), (3), (4) \› (2) uÁÖ   

(B) (1), (2), (3) is correct (4) is wrong 

 (1), (2), (3) \› (4) uÁÖ   

(C) (2), (3), (4) is correct (1) is wrong  
 (2), (3), (4) \› (1) uÁÖ   

(D) (1), (2) is correct (3), (4) is wrong 
 (1), (2) \› (3), (4) uÁÖ   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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196. As concentration of 2CO  increases, the soil pH __________. 
P›¯ Aª»Áõ²Âß ö\ÔÄ AvP›US® ÷£õx, ©soß Põμ Aª»z 
ußø© 

(A) increases  

 AvP›UQÓx   

(B) decreases  
 SøÓQÓx 

(C) neutral  
 |k{ø»¯õQÓx   

(D) neither or nor  
 AvP›¨£x® CÀø», SøÓÁx® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

197. The unit of cation exchange capacity of soil is 
÷|ºªß A¯Û £›©õØÓzvß \›¯õÚ A»S 

(A) C mol (P+)/kg (B) C mol (P+)/L 

 ö\ ÷©õÀì (¦+)/Q.Q  ö\ ÷©õÀì (¦+)/¼ 

(C) Me/l (D) M mol (P+)/ 3m  
 ª¼ C/¼  ª ÷©õÀì (¦+)/«3 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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198. The unconsolidated materials overlying the bed rocks is called  
£õøÓPÒ ]øuÄØÖ Auß÷©À, E¸ÁõS® J¸[QønUP¨£hõu 
ö£õ¸ÒPøÍ (xPÒPøÍ) GÆÁõÖ AøÇUP¨£kQÓx? 

(A) Regolith (B) Horizon 

 öμ÷Põ¼z  £kUøPÁõmh® 

(C) Profile (D) Solem 
 öÁmkz÷uõØÓ®  ÷\õ»® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

199. Soils containing high amounts of organic matter show __________
colour. 
P›©¨ ö£õ¸Ò AvP® öPõsh ©s –––––––––– {ÓzvÀ C¸US®. 

(A) White (B) Black 

 öÁÒøÍ  P¸¨¦ 

(C) Varigated (D) Red 
 ©õÖ£mh  ]P¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

200. Synthesis of soil is known as 
©s E¸ÁõS® {PÌÂß ö£¯º GßÚ? 

(A) Epigenesis (B) Oogenesis 

 G¤öáÛ]ì  FöáÛ]ì 

(C) Pedogenesis (D) Parthenogenesis 
 ¥÷hõöáÛ]ì  £õºw÷ÚõöáÛ]ì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

––––––––––––––––––– 


